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TrigonometryExercise for ID 9124

R 191 17 n 171
TI =12 =, T2=-11m, T3=13mx, T4 =-14 m, 75 = , T6 = — , 77 =— , T8 =

2 2 2 2

47wt 327 10= 197 791 6lm 57Tm
79 = , T10=——"", Tl =—"—, T12 =", TI13=—"", Ti4=——"", T15=
3 3 3 3 4 4
51m 791 1257 6lm 107 &
T16:—T, T17:—T, T8 =— P T19 = P 720 =

J

121 = Cos(—7 m), 122 = Sin(-13 m), 723 =Sec(14 1), 724 = Tan(—13 ), 725 = COS(

_ 17 13w I1n (46w
726 = Sin —T, T27 = Sec 5 ) 728 = Cot 5 ) 729 = Sin , T30 =Cos| —
251 14 ) 43 n
T31 = Sec 3 ) 732 =Cot —?, 733 = Sin —T, T34:COS T35 = Sec| — 4
i 67m ) 71n 89 m
, 137 =Cos , T38 = Sin —T, 139 =Tan| — T40 = Sec| — p
95 32 I=x
T4]=18Cos(— 6R]Tan(——nj—3ﬂ/5Csc( ][Sec[ J
I
T42=6ﬁTan(—Tj—9 3CSC( ) 2fsln( J J3c ( )
n]«/? os( ][Cot( j
T 5w
T44 = 3«/7Csc( J [Sm( j+24«/§Sec(— p j ( 3 j

X [Page = 0001] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKKKK KX KKK XXX KKK KKK XKKXKKKXX

o
)

37
736 = Cot]

47 nt (91
743 = Tan| _T — 180 Sin
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TrigonometryExercise for ID 9197

217 197 271 17 n
TI=15m, T2=4m, T3 =-17 m, T4=-12 m, 75 =— , 76 = — , T7 = , 78 =
2 2 2 2
37 m 26 41 40 67 55 ¢ 37 m
79 = , T10=——"", Tl =—""", T12=—"", TI3=—"", Ti4=—"], T15=-—
3 3 3 3 4 4
57w 83 m 737 77 n 127 &
T16 =—""), T17=—", TI8=—", T19=—"7" 720 = —
4 6 6 6 6

721 =Sin(13 &), 722 = Cos( 15 ), 723 = Csc(16 m), 724 = Cot(-12 n), T25=Sin(—

137
2
1= 257 5= ) 26w 44 1t
T26 = Cos —T , 127 =Cot _T , 728 = Csc , 729 = Sin —T , T30 =Cos| —
o 46 ) 39 43 31
s T32 = Sec , T33=Sin| —— |, T34 =Cos| ——— |, T35 = Cot| —
3 4 4 4
i 89 n (97 m 491 6lm
j, T37:C05(—T), T38:Sm( p ), T39:Csc( j, T40=C0t( p j
T41 = 6Sm( j 2.2 CSC( ] 3 ec[ J+9f Tan( ]

)l sl B ol 5l -2 e
T44:8C0s(—473—n]—45Tan(gszcs{zznjCO( 4j

2 671 297w (16w
T43=—4/2 Cos| ———— |43 Cotf ———— |- 64/3 Sin Tan
3 4 6
PN R-ET LRI OLANED 0:00.0:0:0.0'0:0:0.0.0.0:0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0'0.0.0.0.0.0.0.0.00.0.0:0¢

49
131 = Cot(

37
736 = Csc
4

40
742 =10 Cos(
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TrigonometryExercise for ID 9252

217 117 3= 17 n
Tl =14, T2 =-4m, T3=-15m, T4=13mx, T5 = , 76 = , T7 = — , 78 = —
2 2 2 2
237w 40 20 257 Tl = 93 1 51m
79 = , T10=——"", Tl =—"—, T12 =", TI13=—"", Ti4=——"", T15=-—
3 3 4 4 4
&9 1 115 = 143 &t 6l m 101 =«
T16 =—"", T17 =— , T18 = P T19=—"", 720 = — p

23 n
721 = Cos(7 m), 722 = Sin(-10 ), 723 = Cot(-12 m), 724 = Tan(—15 ), T25=Sin(— j

3l m 35® 15=w
726 = Cos —T s T27 = Sec 5 ) T28 = Tan, —T , 729 = Cos| —

j ] 267:)
T30 = Sin| —
3
231 43 n 41 ) 35n 65
T3] =Tan| ——— |, T32 =Csc , 733 =Cos , T34 = Sin| — T35 =Cot
3 3 4 4 4
297 ) 71n 9n S9n 55m
T36:Sec( 1 j, T37:Sm(— j, 138 = Cos( p j, T39:Tan( j T40 = Sec p j
I

oA ) e 2 ol
-5 s ) ool B cof 75 203)
- ol e 55 gl 15 193]

e ) o 2] 2l 25
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TrigonometryExercise for ID 9312

271 131 131 15w
TI =12, T2 =-15m, T3=17m, T4=-14m, 75 = , 76 = , T7 = — , 78 = —

2 2 2 2

327 46 1t Tr 47wt 37m 63 m 83w
79 =— S Tl0=——"", Tl =—" T12=—""], TI3=——"", Ti4=—""), T15=—-
3 3 3 3 4 4
8l =« 131 m 113w 6lm 103 &
T16 = T17 = P T8 =— P T19:T, 720 = — p

1=
721 =Cos(—7 m), 722 =Sin(-17 m), 723 =Tan(17 ), 724 = Cot(13 n), T25=Cos( j

T 11=w 21w 38
, T27 = Sec —T , T28 = Csc _T , 729 = Cos —T , T30 = Sin| —

35 17 n ) 231 27m 47 n
731 = Cot —T s T32 = Sec —? , T33 = Sin _T , T34 = Cos _T , T35 = Sec| — 4

197 , 351 43 1t T1n 103
736 = Cot(— —), 137 = Sln(— —), 138 = Cos( ), 139 = Cot(— —), T40 = Csc( )
4 6 6 6 6
T 29n 41 n 103 &t
T41=2ﬁTan(— j—cm( j—3 Sec(— j+ss ( ]
4 3 6
63 1
742 =2 Tan| — 2«/7Csc 3 Cos [Sm
e 37w 19n
743 =4 «/5 Sin(— J ( ) «/7 Cot( ]«/5 Csc(— 4 j
101 40 45
T44:3«/§Csc( ]— lOS[Tan( anec( 3njCot( 471)
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TrigonometryExercise for ID 9397
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271 191 291 13w

TI=10m, T2=15m, 73 =-9m, T4=-12 m, T5 =-— , 76 = , T7 =— , 78 =
2 2 2 2
44 nt 407 53¢ Tr 83w 57Tm 85w

79 =— R TI0=—"", Ti] =—"""), TI12=—"", Ti13=—"", Ti4=—"", T15=-

3 3 3 4
87 n 107 & 121 =
Ti6 = N T17 = . Ti8 =

791 77
, T19=——""", 720 = —

6
721 =Sin(-8 ), 722 =Cos(6 1), 723 =Sec(10 1), 724 =Csc(11 m), T25=Cos(
([ 17m
T26=SII’1(

9_nj
2
297 7= 49 1t (34r
, 127 =Sec| ——— |, T28 =Csc , 729 = Cos , T30 = Sin
2 2 2 3 3
50m 37m 45 1t
T31 = Sec —? , 732 =Csc 3 ) 733 =Cos

_ 351 AR
, T34=Sin| —— |, T35 = Sec
4 4
47 1t , 53n 3 n
T36 = Cot(— Tj’ 137 = Sln(— Tj’ 138 = Cos(

4
3 ] ( 3571) (557:]
s T39=Sec| ——— |, 740 = Cot
6 6 6
71n 167 39n (67m
T41 =3 3C0t(——]—3 3Csc( j—STan(——J+IOSm[ J
6 3 4 6
(19nj (43nj (65nj (377:)
742 =20 Sec Cotf ——— |- 18 Tan| ——— | Csc
3 4 6 3
103 41 7t 47 1t 49 1t
T43=2«/§Cos( p j—ﬁSec( 4 j+3«/§Cot(— 3 ]Csc( p j
271 6ln
—«/ESec— Co
6
[Page =

79 1t ) 14t
T44 =24/ 3 Cos t Sin| —
4 6
RV SH D 01610:0:0:0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00 000000 00000000
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TrigonometryExercise for ID 9449

137 21 = 15= 191

Tl =-15m, T2=-14m, T3=4m, T4=13mx, 75 = , 76 = — , T7 = , 78 = —
2 2 2 2
327 46 T 43 1t 17 = 8l m 83w 85w

79 =— , T10=——"", Tl =—""", T12 =", TI13=—"", Ti4=——"", T15=-—

3 3 3 3 4 4
637 Tl = 127 & 109 &t 1257
T16 =—"", T17 =", T8 =— . T19 = , 720 = —
4 6 6 6 6

I5=n
721 =Sin(10 w), 722 = Cos(15 ), 723 =Sec(-10 1), 724 = Tan(—13 ), T25=Sin( 5 j

i 297 167 ] 177
, 728 = Cot , 729 = Cos , T30 = Sin| —
2 3 3
31n 38n 53m _ 67 37w
T31 = Tan| , T32=Cot|l ———— |, 733 =Cos , T34=Sin| —— |, T35 =Csc
3 3 4 4 4
i 37n (67m 85m 53n
j, T37:Cos( j, T38=Sm( j, T39=Sec( j, T40:Tan(— p j
47 1t 50m 65m 85m
T41=4Tan(—Tj—4Sec(—Tjﬁ sm( : Jﬁ cm( j
29 34 53
nj—2 3COS(—TEJ+3«/§Tan( njﬁCsc( 4nj

3
251w
j+2Cos( 3 j

297 ) 53n 37 n
743 =24/3 Cotf === | -2 Sin| - == |2 Tan
3 6 4
32n
Cos| —
3

231w 231w 35®
T44=94/3 Csc| -~ | Cofl ==~ —244/3 Tan| - ;
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11w 21
726 = Cos 5 ) 127 = Tan

25
736 = Sec

(53
742 = Cot
4
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TrigonometryExercise for ID 9562
35m 9w 15« 41 n
TI=-5m, 2=12x, 73 =-4m, T4=3mx, T5 = , 76 =——, T7 =— , T8 =—
2 2 2
35m 44 r 34 43 49 1t 91 &t
79 = . TlI0=——— Tll=—"—"—, TI2=—, Tl3=—, Tld=——),
3 3 4
47 1t 113w
TI6="", T17 =—

69 m
T15=-
95«

. TI8=—"",

97 &t 103 &
T19=—"", 720 = —

6
. 237
721 =Cos(6 1), 722 =Sin(-7 ), 723 = Csc(—-16 m), 724 =Tan(12 ), T25=Cos( 5 j
] 17 = 33n 137 37 m
T26 = Sin —T, T27 = Sec 5 ) T28 = Csc 5 ) 729 = Cos
16w 401
T31 = Tan| 3 ) T32 = Sec

j ] (49 nj
, T30 = Sin
3 3
631 43 1t
3 ) T33 = Sin —T , T34=Cos| —— |, T35 =Csc
277 49t
T36:Tan(——4 ), T37:Cos(

j, 138 = Sin(
6

69 n}
4 4
nj ( 59 nj (49 n)
-——, 739 =Sec| ——— |, T40 = Csc
6 6 6
83 1 63 1 38 10 31
T41=24/3 Sec(— Tj - Cot(— =)+ e CSC(— T] Sin(
4 35m 47
ro-ts sm(_Tj _ﬁm(_

28w 61w
T43=724[3 CSC( ; jsm( ;

‘)
6
50 35
j Sec(— =T j «/5 Csc(— T
6 3
19 20
j — «/E Sec(— —r ) ﬁ Tan(— T )
4 3
45 1t 55 ¢
T44=5 Tan( ; ]—2ﬁ3ec(
= 0007]

19
p j—6«/§Csc( &

51mn
+2Cotl ——
3
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TrigonometryExercise for ID 9721

TI=2m, T2=9m, T3=-11m,

15w 231 9n AN
T4 =—-6m, 75 =— , T6 = , T7 =—"", 78 =—
2 2 2 2
Tr 297 40 56 737 51m T1n
79 =—"", T10=—"", Tl =——"", T12=——"", TI3=—""1 T4 =—- , T15 =
3 3 4 4
37n 103 131 m 149 nt 133 1
TI6=—"", T17 =— . TI8 = , T19 =— . =
4 6
721 =Sin(-14 1),

722 = Cos(—17 ),

17 =
723 =Tan(-7 m), 724 = Csc(-15 ), T25=Cos(— j
3n on 257 32n ] 44 7t
, 127 =Cot| —— |, T28 = Sec , 1729 =Cos| ———— |, T30 = Sin| —
2 2 2 3 3
44 40 6l m ) 671 43 n
T31 =Tan| — , T32 =Csc , 733 =Cos , T34=Sin| ——— |, T35 =Cot| —
3 3 4 4 4
57 (31= 103 & 67
T36:Sec( 1 j, T37=Sm( p j, T38:Cos( j, T39:Tan(

n] (9771)
, T40 = Csc
6 6

67mn 26 53w S9m
T41=3ﬁcOs(——4 ]—2«/?(:0{——3 ]—ﬁTan(—T ]+3«/§Sec(— p ]
([ 21= 50T 95n AR
T42:30«/58m 4 Sec —T —5Csc| - p Tan|

4
5= 831 44 1t
743 =«/§ Csc(— Tj —-34/3 Tan(— T) +6 «/E Sin(— j Sec(— 3 j
40 95m) . 231 37w
T44:«/§C0t 3 ) 16 Cos| — p Sin| — 3 Tan

4
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1
126 = Sin(

=

43 1t
4
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TrigonometryExercise for ID 9789

317 217 291 15w
TI=10m, T2=13 =, T3 =-8m, T4 =-5m, 75 =— , T6 = , 77 =— , T8 =
2 2 2 2
10= 56T 197 237 51m 57 95 =
79 =— , TI0=—-—"", Tl =—""}, TI2=—", Ti3=——"—", T14=—""" Ti5 =
3 3 3 3 4 4 4

97 1

77 n 791 77 &3 1
TI6=—"", T17 =——"", TI8=——"", T19=—"", 720 =
4 6 6 6

117
721 = Cos(8 1), 722 = Sin(-12 1), 123 = Tan(=5 1), 724 = Csc(14 ), T25=Sin(— 5 j

nj ( 26nj
, T30 = Sin| —
3 3
e 35n 6lm 63m 47 1t
s T32=Cot| ——— |, 733 =Cos , T34 =Sin| —— |, T35 = Cot| —
3 3 4 4
i ([ 55m 41 S9n 67
j, 137 = Sln( j, 138 = Cos(— T), 139 = Tan(— T), T40 = Cot(

4
(69 nj
736 = Tan
4
8 657 3= 47 47
T41 =5ﬁ cm[— JSec[ J— 1242 Sin(— T]ﬁ COS(— p )

291 25w 3l = 43
726 = Cos —T , 127 =Csc —T , 728 = Cot —T , 729 = Cos

49
731 = Sec(

6 3
3lm ] 77 n 257 37 m
T42 =2 Sec 90 Sin| - —— |4/3 Csc Cot
3 6 3 4
29 49 297) 1 89
T43=2«/§Sec(— nj—4COS( n}—4Tan( nj+—«/§C0t(— nj
6 4 )73 6
41 327 53w 391
ras =32 Cof 283 5 T -2 3 s - 222 s - 27
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TrigonometryExercise for ID 9795

197 257 1= 33n
Tl =3m, T2 =-10m, T3=-11m, T4=8m, T5 = , 76 = , 17 =- \ 78 =—
2 2 2 2
41 287 20T 257 69 8l n 63m
179 = , TI0=——""], Tll=——"", TI2="", Ti3=—"—", Tl4=—"", Tl5=
3 3 4 4
57 121w 89 n 155w 127
TI6=—"", T17 = , TIS=——"", T19 = , =—
4 6
) AR
721 =Cos(7 ) 722 =Sin(-5 ), 723 =Csc(8 m), 724 =Sec(7 ) 725 = Sin 5
297w 33n 35n (l6m
T26 = Cos 5 ) T27 =Csc , T28 = Sec 5 ) 729 = Sin

31n
, T30 = Cos
3 3
(49= 671 71n
733 = Sin , T34=Cos| —— |, T35 = Sec| —
4 4 4
57Tn ) 37n 43 1t 351
T36=Tan( 4 ), T37=Sm( ) T38=Cos£ p ), 139 = Csc( j, T40:Tan(— p j
T41=12Cos(

41
131 = Sec(— Tj’ 132 = Cot(

ol TS sl ) (‘“’“J
T42=242 COS( 42“} “343 cm(— Tnj n Sec( J2 Csc(
T43=2ﬁ8ec(41 7T)—24 CSC(?’anﬁsm(— 21“] ( 77nj

. T44 = 4CSC( ) 4«/73111( ] V2 Co ( ]+3«/7Cot(
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TrigonometryExercise for ID 9839

3= 191 AN 37n

TI=5m, T2=6m, 73 =-11m, T4=-8m, T5 =-— , 76 = , T7 = , 78 = —

2 2 2 2

44 it T 297 10m 47wt 59m 6lm

79 =— , T10 =", Tl =—"", T12=—"", TI3=—"", Ti4=——"", T15=-—

3 3 3 4
89 n 737 127 & 95 = 1257
T16:T, T17:T, T8 =— , TIQ:T, 720 = — p

33x
721 = Cos(—-9 m), 722 =Sin(14 ), 723 =Cot(6 1), 724 =Tan(11 ), T25=Cos( j

) 29n 231 291 _ 32n 44
T26 =Sin| ———— |, T27 = Sec , 728 = Tan , T29=Sin| ——— |, T30 = Cos| —
2 2 2 3 3
231 49 n 51m ([ 37m 33x
T3] =Csc| ———— |, T32 = Tan| , T33=Cos| —— |, T34 = Sin , T35 =Csc
3 3 4 4
47 1t 3= 97 = 43 7t 65m
T36 = Tan(— —), 137 = Cos( j, 138 = Sin( j, 139 = Csc( ), T40 = Sec(— )
4 6 6 6 6
51n 2 167 85m 43 1t
T41=3ﬁcSc(— ; j—gﬁsm( S )—2«/?@{ j+2Tan(— ]

6 4

51 59 63 41
T42 = «/5 Sin(— Tnj - 36 Cot(— Tnj «/5 Cos(— i j Csc(— = j

4 3

47 nt 89 1t 55w 14t
T43=24/3 Tan(— Tj—ﬁ cm(— Tj+ 1242 Sec(— Tjﬁ Sin(— . )
1 95 61 40 43
T44:5«/§Cot(——6n]«/§Csc( 471)_ 18 Cos( 3n]«/§Sec( 6nj
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TrigonometryExercise for ID 9843

RRE 27 x 191 17 n

TI=5m, 12=2m, T3 =-15m, T4=-6m, 75 =- 5 76 = 5 77 =— 5 78 =
357 327 407 31m 45 it 41

79 = , T10=——"", Tl =—"—, T12 =", TI3=—"", T14 = T15 =

3 3 3 3 4
83 71 n 101 85 m 115n
TI6=—"", TI17 =—"", T18 =— , T19 =", 1720 = —
4 6 6 6 6

.

721 = Cos(10 1), 722 = Sin(-12 1), 723 = Csc(—-12 m), 724 = Cot(-15 m), T25=Sin(

T 231 171t 34n
, T27 =Tan| — 128 = Csc| — 5 ) 729 = Cos 3 ) T30=Sln

40n 37w 3l =
T31 = Sec , 732 =Csc| — T33 = Sin , T34 = Cos —T, T35:Csc

3
i 47 1t i
), T37:C05( ) 138 = Sln( 139 = Cot( ), T40:Csc( p )
35

<)
- cd )2
(( 2

)

19
1726 = Cos(

41
736 = Sec

741 =643 Cos[

T42:3«/§Sec( j fCSC( ) j+4chs(
T43 =12 Sin(nnj«/ECos( j j ( 59;)
T44:2«/§Cos(—597nj—108 Sln(sz jCO( %)ﬁSec( 41“)
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TrigonometryExercise for ID 9854

27 1 217 157 251

T =-3m, T2 =-8 m, T3=10m, T4=15m=, 75 = , T6 = — , 77 =— , T8 =
2 2 2 2
50m 40 31m 53 = 99 8l m 85w

79 =— , T10=——"", Tl =—""", T12 =", TI3=—""", Ti4=—"], T15=-—

3 3 3 3 4 4
103 & 107 & 67 133 = 137 &
Ti6 = , T17 = . TI8=——"", T19 = . 720 = —
4 6 6 6 6

137
721 = Cos(—6 1), 722 =Sin(-12 &), 723 = Cot(16 1), 724 = Sec(—-11 m), T25=Sin(— 5 j

31n 19n 297w 167 (22 n
726 = Cos —T , 127 =Csc| — , 728 = Cot , 729 = Cos , T30 = Sin 3

2 3
b 37w T 21w 25w
3 ) 732 = Cot s T34 =Cos s T35 =Csc 4
T T 85m
), 137 = Cos( ) ), 139 = Csc( j T40 = Cot( )

6 6
23n) (43¢
T41=94/3 Tan( ] 40 cm( j Sln( J COS( ]
6 4 6 3
23
742 =16 Csc( j Sm( j -3 Cot(— _nj «/; Tan( j
77 n 231w 103 &t
T43=2Csc(— p j 8 Co ( ]+24f5ec( j 1n( p j
S9n e )
T44=643 Sec(— T] _4 Tan(— TJ ~243 Sln(

T 49 1t
j+3Csc( p j

X [Page = 0013] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXKKKKKKKKXX XXX XKKKKKK KKK KK KKKKKXX

28 29
T31:Tan( T33:Sin( 4

53 (97
736 = Cotl =, 738 = Sin|

\] (@)
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TrigonometryExercise for ID 9862

21 = 197 23 1 171
TI =14 =, T2=-5m, T3 =-16m, T4=3mx, 75 = , T6 = , 77 =— , 78 =—
2 2 2 2
197 41t 26 46 T 99 657 85w
79 = , T10 =", Tl =—"—, T12=—"", T13=- , T14 = R T15=-—
3 3 3 3 4 4
87 n 113 =« 97wt 791 119w
T16:T, T17 =— P TIS:T’ T19:—T, 720 =

29n
721 = Cos(16 m), 722 =Sin(6 ), 723 =Sec(-14 n), 724 = Csc(—17 m), T25=Cos(— 5 j

ch ( 97:) ( 25nj (49nj _(37nj
, 127 =Tan| —— |, 1728 =Csc|l ——— |, 729 = Cos , T30 = Sin
2 2 3 3
o 50m (37m 471 63 1
s T32=Cot| ——— |, T33 = Sin , T34 =Cos| ——— |, T35 =Cot| ———
3 4 4 4
i (73 m 297 85 m
), 138 = Sln( ), 139 = Sec(— T), T40 = Tan( )
35¢

6 6
20 21
nj—lO Cos(—Tn]—3«/ESec( R]JrSCsc(— j

4

6
T 591 2 41 = 16 ©
2 Csel — ~ZCof| - Si
jfsc(4)3°(6jm(3j
TC

47 n 32 331 61w
T43 =42 Cos - |- 729.Cse ==~ | Cot Tan

4 6

391 46 it 651 69 1t
T44=«/§SCC(—TJ—«/§CSC( 3 j+18 3Tan(— p JCot( J

4
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(29
726 = Sm(
2

31
731 = Sec(

S9n 49
136 = Tan(— Tj’ 137 = Cos(

(91
T4 =8 Sln(

22
T42 =2 Sec(
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TrigonometryExercise for ID 10278

15w Tn 131 131
TI=11m, T2 =-4m, 73 =-9 m, T4=8mx, 75 = , 176 =——, 77 =— , T8 =
2 2 2 2
13 = 297 50m 16 6lm 55 ¢ 89 n
79 = , T10 =", Tl =—"—, T12=—"", T13=- , T14 = R T15=
3 3 3 3 4 4 4
99 1t 6lm 67 1257 107 &
TI6=—"", T17 =—", TI8=——"7, T19 =— . 720 =
4 6 6 6 6

5=
721 =Sin(6 1), 722 = Cos(10 ), 723 = Sec(—13 n), 724 = Cot(—6 1), T25=Cos( j

_ 197 35n 17 = 46 1t
T26 = Sin ——2 , T27 = Tan ——2 , 728 = Csc 5 ) 729 = Cos 3 ) T30 = Sin| —
38 22 (45= 33
T31 = Sec —T , 732 = Tan| 3 ) T33 = Sin 1 ) T34 =Cos , T35:Csc
i 971
p j, T38:C05( p ), T39:Tan( ) T40:Sec(
53 44 nt (5T m
T41=4Tan( ; )—24 CSC(— jﬁ Sln( ; ) (
49 1 14 103 57
T42=41/5COS( nj——«/;Tan(— nj+208m( )Co( j
4 3 6 4
3l 77 40
143 =3 Cotl ==~ 3 Sec |- 12Cos Tan| 2
43
n)—zﬁsm( j 6[00{ j+4 3COS( 6“)
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391 (91
136 = Tan(— Tj’ 137 = Sln(

49
T44 =13 Csc(
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TrigonometryExercise for ID 10361

291 RN R 291
TI=11m, T2 =-4m, 73 =-9 m, T4=14 =, T5 =- , 76 = , T7 =— , T8 =

2 2 2 2

13 = 56 28 47 1 63 m 85w
79 = , T10=——"", Tl =—"—, T12 =", TI13=—"", Ti4=—"], T15=-—
3 3 3 3 4 4 4
51m Tl = 139w 133 & 149 &t
T16=——"", T17 =", T8 =— . T19 = , 720 = —
4 6 6 6 6

121 =Sin(17 &), 722 = Cos(—15 ), 723 =Sec(-16 1), 724 = Cot(11 1), T25=Cos( 5

T 17 = (37m 197
, T28 = Csc| — , 729 = Sin , T30 = Cos
44 1t 167 6 i
T31 = Sec| — 3 ) 732 =Cot , 733 =Cos| —
237 47 1t ) 83 n on 47 1t
136 = Sec(— ), 137 = Cos(— —), 138 = Sm(— ), 139 =Cot| — ), T40 = Csc(—
4 6 6 6 6
. 71 m 32mx 5= 69
T41 =10 Sln(— —j - 81 Tan(— —j Sec(— J Cot[ J
6 3 6
67 41 28
T42=642 Sin(— Tnj ) CSC(— Tnj 1243 cm( RJ 2 ec( )
437 S3m 32n
T43=184/3 Sec( jﬁ Sin( j ~20 COS(— j ( ]
41 7 5lm 9rn) 2 44 1
T44 =2 Sec(— —j — Cot(— j -4 Csc( J ﬁ Tan( j
3 4 6 3 3
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(23 = 31
T26 = Sin , T27 =Tan

T
j, 734 = Sin
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TrigonometryExercise for ID 10532

291 371 R 11w
T =-9m, T2 =-8 m, T3=2m, T4=3mx, T5 = , 76 = — , T7 =— , T8 =
2 2 2 2
41 50m 46 1t 197 T3 7 6lm 63 m
79 = , TI0=—-—"", Tll=——"", T12 = S Ti3=—""), T14 =— S Ti5 =
3 3 3 3 4 4
91 = 131 = 737 791 101 =
Ti16 =— , T17 = . TI8=—"", T19=——""", 720 = —
4 6 6 6 6

"
2
38n ] 41 &
), T29=Cos(— —), T30 = Sln(— )
3 3
j (33 n}
, T35 = Tan|
4
"

13
121 = Cos(6 m), 722 =Sin(-16 1), 723 =Sec(8 m), 724 =Cot(15 ), T25=Sin(

nj (31 nj (1575
, T27 = Tan , T28 = Sec
2 2
231 40 ) S51m 25m
131 =Csc| ———— |, 732 =Cot , 733=Sin| —— |, T34 = Cos
3 3 4 4
T 65m ) 53n S9n 31
), 137 = Cos(— T), 138 = Sm(— T), 139 = Csc(— Tj’ T40 = Sec(
50m 95~ ) S5m 38
T41=8 COS[— —J -3 CSC(— —J 1642 Sln(— ] Sec(— ]
3 6 4 3
167 38m 89w
142=10 Cos| — ~34/2 Csq| - Cot| -~ | Sec| - —
53m 52m 65T 65T
T43=38 Sin(—Tj—%/;Cot( )—2«/5Cos( j+3«/§Sec(— j

3 4 6
28 o
) —-24 Cos( j

n)ﬁcs{szn njﬁcOt(m
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15
726 = Cos(
2

37
T36 = Sec
4

59n
4

(55
T44 =9 S1n(




):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXKXXKXXKKXXXXXX XX XKXKXKXLXXKXKXK KX KKK KX KXKXXKXKXKKXKKXKXKME /1-6400301-00018XX
TrigonometryExercise for ID 10688

TI =-7m,

237w

2

79 =

29n
721 =Sin(10 1), 722 =Cos(17 ), 723 =Sec(—15 ), 724 =Cot(17 ), T25=Sin(
11
726 = Cos
2
131 :COt(—

65
736 = Csc
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T 20m
- T32=Sec| ————
3 3
T ) 35

j, T37:Sm(—

i 257 i 197 ] 44 7t
j, T27:Tan( j, 128 = Cot(— —), 129 = Cos( ), T30 = Sln(— )
2 2 3 3
631 ) 39 S9n
, 733 =Cos| ——— |, T34 =Sin| —— |, T35 =Cot| —
4 4 4
T 103 &t 65m 597
—j, T38=Cos£ ), T39:Cot(— ), T40 = Csc(— p j
1 71n
T41=§ﬁcOt[—Tj—3s ( ] 2[8111[ J+3fTan( )

85 52
nj—gﬁSec( 4nj+27 Tan( stc( ch
e 73 n 38n 59n

— |—135Tan p Csc| — 3

oo 2) e e

40
742 =6 Cos( 3

743 =5 Sec(—

T44 =27 Tan(
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197 21 = 297 27 x
2=11m, T3 =-4m, T4=6m, T5 =-— , 76 = — , T7 = , 78 =
2 2 2 2
227 20 37m T 83w 95 m
TI0=—-—"", Tll=——"", T12 =", TI3=—"", 714 =— R T15=
3 3 4 4 4
89 n 791 83 m 121 = 149 &t
T16=—" T17 =——"", Ti8 = , T19 = . 720 = —
4 6 6 6 6

J
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TrigonometryExercise for ID 10868

17 n 231
Tl =-8m, T2 =-9m, T3=5m, T4=4m, T5=- 5 T6 = 5
50m 53 = 28 37m 757
79 =— , TI0=—"", Tll=——"", TI2=—", Ti3 =- ,
3 4
737 1257 115= 133 7
TI6=—"] T17 =— . =— , T19= s
4 6 6

721 =Sin(-16 1),

(15
726 = Sll’l(
2

b 52
T31 = Sec —T , 732 = Cot
35¢ 5
136 = Cot(— Tj’ 137 = Cos(—
T41 =4 Sec[
T42=642 Sin(—
T43=64/3 CSC(—
T44 =43 CSC(
[Page = 0019]

722 = Cos(—17 ),

o8 35w
j, T27:Cot( 5

T

j, 133 = Sin(
3

9

s
—j, 738 = Sin

oI 347
— |4/ 3 Cot
4 )[ O( 3

o

j, 128 = Csc(

J 5442 Cos

)

723 = Cot(-8 ),

65nj
4 b

—44/3 Tan(

Jj—:&ﬁ(ﬁm( 6“

103
j+9Cot( p )Tan(

),0:9:9.0:9:9.0:9:0.0:9:0.0:9:9.0:9:9.0:9:0.0:9:0.0:9.:0.0:9.0.0:9.9.0:9:0,0:9:9.0:9.0.0:0.0.0:9.:0.0:9.0.0:9.9.0:9.:9.0:9:0.0:9.0.0:9:0.0:9.0.0:9.0.0:9.:9.0:9:0.0:9:0.0:9:0.0:9.0.0:¢

25nj
2 9

129 = Sin(

T34 = Cos(

79

o
s 139 =Tan| —
6
61m) .
Sin| —
4

724 = Csc(-10 m), T25=Cos(—

281 297
, T30 = Cos| —
3 3
43 o

ol
) e
ES

23 1 291
177 = — , T8 =
2 2
77 47
Tl4=——"", Ti5 =
4
107 &
6

nj ( 67
, T35 =Tan| —

4

297

j T40:Csc(— p )

971

3771)
3
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TrigonometryExercise for ID 10900

37n 131 31 m 11=
TI=6m, T2=-2m, T3=5m, T4 =-7 m, 75 =— , T6 = , 77 =— , T8 =
2 2 2 2
47wt 16 56 31m 51m T1n 65m
79 = , T10=——"", Tl =—"—, T12 =", T13=- , T14 = R T15=
3 3 4
37 m 127 & 85 m 137 & Tl =
T16:—T, T17 =— . TIS:T’ T19 =— P 720 =

721 = Cos(—11 m), 722 =Sin(-14 1), 723 = Csc(-8 m), 724 =Cot(9 1) 725 = Sln(

197w T On

726 = Cos 5 ) 127 =Sec| ———— |, T28 = Cot —7 , T29:C0s T30 = Sin| —
297 50m _ 55m

T31 = Sec —T , 732 = Cot| — s 733 = Sin| —T s T34:Cos T35 =Tan| —

3
53n (49m i 5
T36:Sec( 1 j, T37=Sm( p ), T40=Sec(
5

S vl=-

4 J
o)

101
], 738 = Cos(— —), 739 = Cot(
6 6
537 43 1t 14r S5m
T41 =64/ 3 Cos| — p -2 Cot ——4 — 3 Sec ——3 +4 Csc p

T4 -3 ﬁg{zS nj 3 «/?Cot( 1o nj +50 Tan(— %—nj COS( 34; )
T43=64/3 Tan( j V2 Csc( )ﬁ Cot(316 nj Sec(_ 23; nj

791 RN 49 1t 731
T44 =15 Csc Cot| —— |- 48 Cos Sin
6 4 3 6
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TrigonometryExercise for ID 11693

191 191 25 ¢ 251
TI=6m, T2=-5m, 13=7m, T4 =-8 m, 75 = , T6 = — , 77 =— , T8 =
2 2 2 2
37 m 50m 40 237 S9n 49 nt 6lm
79 = , T10=——"", Tl =—"—, T12 =", T13=- , Ti4=—", T15=-—
3 3 3 3 4 4
8T n 101 = 791 Tl = 97 1t
T16:T, T17 =— P T18:—T, T19:T, 720 =

721 =Cos(11 ), 722 = Sin(-5 ), 723 = Sec(—6 1), 724 = Cot(-12 n), T25=Sin(

nj (337:) (17nj , (467: j
, T27 =Csc , T28 = Cot , 729 = Sin ,
2 2 3
o 49 39 S9n
s 732 =Cot , 733 =Cos| ——— |, T34 = Sin| — , T35:Tan
3 3 4 4 4
37 m (6lm 73 n 89 n 10l =
T36 = Sec( 1 ), T37:Sm( ), T38:C05( p ), 139 = Cot( ), T40:Csc(— p )
63
T41=94/3 Csc[ J an( Tn]—4 3 COS[ j+2 Sec( )
742 =3 Tan( j 2«/7Cos( j+ 3 «/;Csc( j 2 ec( j
39n 43 n 65
T43:3Tan(— p jﬁ cm( ]—20 Sin( ]f Cos( j

3
) 67 AN 2l n 281
T44=3«/§Sm —T — 405 Sec —T Cot 4 Csc 3
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19
126 = Cos( 5 730 = Cos(

37
731 = Tan(
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TrigonometryExercise for ID 12097

11x 17w 11w 331

TI=10m, 72 =-11 m, T3 =-6m, T4=13mx, T5 = , 76 = , T7 = — , 78 = —
2 2 2 2
31m 17w 16 8l m T 85w

79 = , T10=——"", Tl =—"", T12=—"", TI13=—"", Ti4=—"], T15=-—
3 3 3 4
99 1t &S m 83 m 115 = 113 =«
TI6=—"", T17 = . TI8=—"", T19 =— . 720 = —
4 6 6 6 6

721 = Cos(—13 ), 722 =Sin(-12 &),

23 n
723 = Cot(-14 n), 724 = Csc(-8 m), T25=Cos( j

i 17 = AR 40 (37w
, 127 = Cot| — , T28 = Csc , 729 = Cos , T30 = Sin
2 2 3 3
17w 44 45 ) S9n STn
T31 = Tan| —T , T32 =Csc| — 3 ) 733 =Cos 1 ) T34 = Sin| — , T35 =Cot 4

4
i 47 1t ) 53n 95 n 77 r
, 137 =Cos| ——— |, T38=Sin| ——— |, T39=Cot| ——— |, T40 = Tan| —
6 6 6 6
1 59n 55 = 43 1) 53n
T41==4/3 cm(— —j—ZTan[— —J+4o COS[ JSIH(— )
3 6 4 3 6
55 22 3 25 73
T42:108in( nj—zﬁ(:sc( nj——ﬁSec( nJ+9ﬁTan( nj
6 3 2 4 6
T 37n 10 45 1t 43 71t
j«/gCos( )——Tan( ]«/;Sin( J
6 3 4 3
47 1t 43 7t 951t 227
T44 =24/ 3 Tan _—6 - 18«/5Csc - Cos| — p Cot

4 3
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(25
726 = Sll’l(

33
736 = Sec

37
T43 =6 Sec(
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TrigonometryExercise for ID 12172

TI=6m,

271 17 n 171 191
T2=13mx, T3 =-5m, T4=-2m, T5 = , 76 = — , T7 = , 78 = —
2 2 2 2
43t 207 46 T 357 6lm 957 107 &
79 = R TI0=—"", T1]=——"—", TI12="", Ti13=—"", Ti4=—""", T15=-
3 4 4
57w &3« 55 = 109 &t 113 =«
TI6=—" T17:T, TIS:_T’ T19 =

b

721 =Cos(13 1) 722 =Sin(12 &), 723 =Sec(—17 m), 724 =Cot(7 m) 1725 Cos(

23 nj
- 2
( 13ch ( 33nj ( 9nj ( 38nj _(49nj
726 =Sin| ———— |, 127 =Csc|l ———— |, 728 =Tan| ——— |, 1729 =Cos| ———— |, T30 = Sin
2 2 2 3 3
197 207 21 = _ 51m 451t
T31 = Sec , 132 =Csc| — , 733 =Cos , T34=Sin| —— |, T35 = Sec
3 3 4 4 4
257 T 6lm 55m
736 = Tan( ), 1737 = Sm( ) 738 = Cos( ), 739 = Csc(
4 6 6
T41:4Sin[

J ( 71nj
s T40 = Tan| —

6 6
T42=2ﬁTan(

o o
T43=%ﬁ Sec(— 4 ]ﬁcm(_li—nj

4f8m( )—SCOS(—TTCJ+3«/§SGC(376RJ
o Z2) 22l 22

T 55m (65T
-8 Csc 4/ 2 Sin|
6
4 j
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TrigonometryExercise for ID 12173

27 11n 51 37n
TI=15m, 72=10m, 73 =-4m, T4=-T7m, T5 =-— , 76 = , 177 =—"", 78 = —
2 2 2 2
10= 387 37 m 53 = 57Tm 85w S9n
79 =— , T10=——"", Tl =—"", T12 =", TI3=—"", T14 =— R T15=-—
3 3 4 4
8T n 103 & 149 &t 131 m 97 1t
T16 =—""), T17 =— , T18 = P T19 = P 720 = p

15
721 =Sin(-10 r), 722 = Cos(—14 n), 723 =Sec(10 1), 724 = Csc(—-13 m), T25=Cos( nj
) On 137 I5= 167 (49m
T26 =Sin| ——— |, T27 =Csc , T28 = Sec , 129 = Cos , T30 = Sin
2 2 2 3 3
471 437 (45= 49t 61 m
T31 = Sec| — 3 ) 732 =Csc s 733 = Sin| 1) T34 =Cos s T35 =Cot 4
41 i 41 43 1t
136 = Tan( , ), 138 = Cos(— T), 739 = Sec( j T40 = Cot( p j
35~ 27m ([ 37= Ol n
T41 =2 Csc(— —] -2 Tan(— —j +2 Sm( J [ J
6 4
53m 37w 69 1t
742 =5 Tan — 162 Csc «/5 Sin Sec| —
4 3 4
43 n S51m 23
T43=84/3 cm( . )ﬁ COS(— Tj— 12 Csc( ]f Sln( j
55m 47 n 55= Ol
T44:6«/§Sec( ; j—éﬁsm(—T)—zTan(—ij 3 COS( ; ]
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(31
737 = Sin|
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TrigonometryExercise for ID 12180

271 15w 33 21 =
Tl =-9 m, T2 =-8m, T3=14m, T4=3m, T5 =-— , 76 = , T7 =— , 78 =
2 2 2 2
43 1t 207 227 237 6lm 47 1t 8l m
79 = 3 TIO:—T, T”:_T’ TIZ:T, T]3:—T, T14=—""" Ti5 =

597 737 557 83 m 101 =«
T16:—T, T17:T, T18:—T, T19=—"", 720 = — p

25n
721 = Cos(—6 1), 722 =Sin(-15 m), 723 =Tan(8 1), 724 = Cot(-5 ), T25=Sin(— j

231w 31n ) 50m 147
726 = Cos 5 ) 127 = Cot| — 728 = Csc —T , 729 = Sin| — 3 ) T30 = Cos| — 3
44 1t 57m 197 257
T31 =Sec| ———|, T32:Tan 733 =Cos , T34 = Sin| — , T35 =Tan,
3 4 4 4
63 m ) 89 n 3l n 95 n
T36:C0t(_Tj’ T37=Sm( p j 138 = Cos( p j, T39=C0t( 6 ) T40 = Tan| — j

(9]

s

T41_12fsln(2 jSCC( J 9fcos( ]fcsc( 63nj
T42= 3fSec(4 n)—lSCot( njﬁcs{‘inj ( 29 1
T43:2«/ESin(— j 3 3Tan( ]Hz[CSC( nj t( j
T44=3 2CSC(4in)—1/§Cot(—3sTnj_4sec(_26n]+ﬁcos(4i ]

),0:9:9.0:9:9.0:9:0.0:9:0.0:9:9.0:9:9.0:9:0.0:9:0.0:9.:0.0:9.0.0:9.9.0:9:0,0:9:9.0:9.0.0:0.0.0:9.:0.0:9.0.0:9.9.0:9.:9.0:9:0.0:9.0.0:9:0.0:9.0.0:9.0.0:9.:9.0:9:0.0:9:0.0:9:0.0:9.0.0:¢

F‘ IN

4
T
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TrigonometryExercise for ID 12256

231 27 x 33 13w
TI=3m, T2 =-13 m, T3 =-4m, T4=2m, 75 = , 76 = — , T7 =— , 78 =
2 2 2 2
137 227 20 237 67 85w 791
79 = 3 TIO:—T, T”:_T’ TIZ:T, Ti3=—"—", T14 =— S Ti5 =

) ) -

737 &S m 55 = 113 =« 131 m
T16:T, T17 =—" TIS:_T’ T19 =— 1720

15
721 =Cos(6 1), 722 =Sin(-17 &), 723 = Cot(7 ), 724 = Csc(-5 m), T25=Sin( nj
297 _ 38n 50m
s 729 = Sin| — s 730 = Cos| —
2 3
43 46 o 43 n
T31 =Csc 3 ) 732 = Tan, 3 ) 733=Cos| ——— T35 =Cot —T
5ln 53n (67m 71n
136 = Csc| — , 137 =Cos| — , T38 = Sin , 739 = Cot| —
4 6 6 6
257 52w
T41 = 2«/§Tan( 3 ]Csc( j 6«/7Cos( ]Sec( 3 ]
53m 41 n 37w 19~
T42 = 44/2 Cos 270 Sec| — Cot Csc
4 6 4 3
T43 = 3chc( j 3fSec( j 2fcot( )+4«/781n( j
T o 47 n 2l
T44:«/5Csc(— T]—«/ECot(— j+4 3 Tan(— T]«/ECOS( 4 )
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I5=w AR
T26 = Cos| — 5 ) 127 = Csc| — 5 ) 728 = Tan|

134 = Sin(

T40 = Tan(—
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TrigonometryExercise for ID 12278
137 37n 31n
Tl =-7m, T2=5m, T3=12m, T4=-6m, T5 = , 176 =— , 17 =- , T8 =
2 2 2 2
3l n 167 297 S9n 45 1t 95 n
179 = , TI0=——""], Tll=——"", TI2="", Ti3=—"—", T14=- , Tl5 =
3 3 3 3 4 4
737 103 125w 83 n 971
T16=—"", T17=—- , TI8=- , T19=—"", 120 =
4 6 6 6
) i 237
721 = Sin(9 n), 722 = Cos(13 ), 723 =Csc(17 m), 724 =Sec(18 1), 725 = Sin| — 5
257 237 237 ] 147 44 7t
]?6:Cos——5—, T27 = Sec , ]?8:Tm1——5—, ]?9=Sm—=j;—, T30 = Cos| — 3
29n 17 n ) 67 o 43 n
T3] =Csc| ———— |, BZzQﬁ——?—, B3:&n——z—, T34 =Cos s T35 =Cot| — 4
73 n)

] 89 n 297 83 m
j, 137 = Sln(— —j, 138 = Cos(— Tj’ 139 = Tan(— Tj’ T40 = Csc( p

T41 =3\/§Tan(—717n]—5 Cot[53 TEJ+ 10 Cos(— 293nstc(736nj

T42:6Tan(_%jﬁc()t(_m?nj_2ﬁSec(376njﬁsm(zznj

T43:ﬁsec(41n]_3ﬁTan(2inj_2ﬁcos(_%Tnj+2Cot(37nj
e

),0:9:9.0:9:9.0:9:0.0:9:0.0:9:9.0:9:9.0:9:0.0:9:0.0:9.:0.0:9.0.0:9.9.0:9:0,0:9:9.0:9.0.0:0.0.0:9.:0.0:9.0.0:9.9.0:9.:9.0:9:0.0:9.0.0:9:0.0:9.0.0:9.0.0:9.:9.0:9:0.0:9:0.0:9:0.0:9.0.0:¢

65m
736 = Sec

= 0027]
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TrigonometryExercise for ID 12482

231 33n 231 5
Tl =-12m, T2=-11m, T3=15m, T4=4r, T5=- \ 76 = — \ T7 = \ 8 =——
2 2 2 2
20T 257 28w 297 63m 6lmn 57Tm
79 =— , TI0="", Tll=——"", TI2="", Ti3=—""), Tl4=——"", Tl5=
3 3 3 3 4 4
9 r 77w 131w 6lm 127 &
Ti6=——"", T17 =- , TI8 = , T19=—"", 720 =—
4 6 6 6 6
) (31=
721 =Sin(-8 ), 722 = Cos(—15 m), 723 = Sec(—6 ), 724 = Cot(—11 m), 725 = Sin 5
1= 5= 17 = 38mn ) 44 1t
T26 = Cos —T , T27 =Csc —T , T28 = Cot —T , 729 =Cos| — T30 = Sin| — 3
41 38 6l m ) 657
T3] =Csc| ———— |, 732 =Tan| ——— |, 733 =Cos , T34 = Sin| — T35 = Sec
3 3 4 4
3= 73 n ) 77T n 6lmn
T36 = Tan —T , 137 =Cos , T38 = Sin —T , 139 = Sec| — T40 = Csc p

A e R e e Sm( 2

T42 - 3C0t( ) 3 Tan( )+30 Sec( njﬁ COS( j

T43=4ﬁsm( j 6[00{ j 6[Sec( j+3f6sc( Sk ]
e ) ()] 2
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T41 =3 Tan(




X

55 = 291w 1 231w 43 1t
T44 =20 Csc( j Cos(— J — —«/5 Sec(— —j «/; Cot( j
6 3 2 4 6
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TrigonometryExercise for ID 12586

RN 25 ¢ 23 1 21 =
Tl =-15m, T2=13 =, T3=-2m, T4=10m, T5 = N 76 = — 5 T7 =— 5 78 =
31m 46 T 47wt 327 791 99 n 85w

79 = , T10=——"", Tl =—""", T12=—"", TI3=—"", Ti4=——"", T15=-—

3 3 4 4 4

8l m 95 = 91 = &S m 77

TI6=—""" T17 =—"", TI8=——"", T19=—""", 720 = —
4 6 6 6

23 n
721 = Cos(—17 ), 722 =Sin(9 ), 723 = Cot(—-11 n), 724 = Csc(—-17 m), T25=Cos(— j
T

) 27 m 17m
T26 = Sin _T , 127 = Tan|

25w 20m )
, T28 = Sec s 1729 =Cos| ———— |, T30 = Sin| —
2 2 3 3
31w 37w 331 43 1t 19w
T31 = Sec , 732 = Tan, 3 ) 733 =Cos 1 ) T34 = Sin _T , T35 =Tan| —
T1n

4
671 ) 291 67
136 = Sec(— T), 137 = Sm(— T), 138 = Cos(— p ), 139 = Sec(

n) (4971)
, T40 = Csc
6 6

14wt 41 69w 26
T41 =43 Tan[—TJ—6«/§Cos(—T]—2«/ESin[ J+3 Sec(— S )

4
79 29 91 69
742 :«/; Sec( nj -8 Csc(— nj COS( n)ﬁ Sin( nj
6 3 6 4
41 101
743=9 3Tan(—7n)—«/5Csc( nj«/;Cos(— 6TEJ

331 49
+ 10 Sec
4 3
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TrigonometryExercise for ID 12677

231 AR 15w 37 n
Tl =-13m, T2 =8, T3=15m, T4=-12m, T5=- o T6 = 5 17 = 5 T8 =—
35m 44 it 227 197 3 n 45 1t 75
179 = , TI0=——""], Tll=——"", TI2="", Ti3=—""), Tl4=——"", Tl5=-
3 3 4 4
47 1t 97 n 95 m 113 1 103 &
T16=—"", T17=—"", TI8§=—"", T19=- , 720 =—
4 6 6
] ([ 15m
721 =Sin(-8 1), 722 =Cos(9 1), 723 =Sec(15 m), 724 = Tan(—16 ), T25=Sln( 5 j
21 = 237 237 43 1t (49Tm
726 = Cos 5 ) T27 = Sec 5 ) 728 = Tan| — 5 ) 729 = Cos 3 ) T30 = Sin 3

44 n 197w
131 = Sec(— ?j, 132 = Cot( 3

) S51m 39n 451
, I33=Smn|———|, I34=Cos|———|, TI35=Csc
4 4 4
6ln 85 m ) 77T n 103 53n
136 = Sec( j, T37:Cos( j, 138 = Sm(— —j, T39:Csc( ), T40:Tan(— )
6 6 6 6
79 16 33
T41 = 3[(:sc( ] 3 COS[ RJ—zﬁsm( n]+Tan( 4“}
63
742 = 2«/7Csc( j [Cot( j+4«/7Cos( j«FSln( ch
40 101
T43=10 Cos( j 36[31{ ] ( 3anan(— ” n)

4 49 57
T44:§«/5Csc( 4n]«/§8in( 3n]—9«/§Sec( 6n)Tan( 4nj
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TrigonometryExercise for ID 13490

35n 231 9n 41t

TI=2m, T2=-13m, T3=11m, T4 =-14 m, 75 = 5 76 = — 5 T7:T’ 78 =—
46 T 20 43t 297 57 107 = 37m

79 =— R TI0=—"", Ti] =—"""), TI12=", Ti13="", Ti4=——"T", T15=-

3 3 3 3 4 4
95 = 143 &t 137 & 791 97wt
TI6=—"" T17 = . T8 =— , T19=——""", 720 =
4 6 6 6 6

33x
721 =Sin(-13 &), 722 =Cos(—8 m), 723 =Csc(7 m), 724 = Sec(-10 1), T25=Cos( 5

T 237 297 377: _ 50m
, T27 = Sec| — s 728 = Tan —T s 729 = Cos T30 = Sin| —

2
45
j, T34 = Cos( j 735 = Cot( 4 j

T 237 65m
, 732 = Sec| — 733 = Sin| 4
43 1t
), T40:Csc( p j

103
j 138 = Cos( j, 139 = Cot(

ol ) 20 2] 50 22
LS NN
23 n -

-l - 252 e 7)o )T s 25)

32x 23 1 103 &t T
T44:9«/;Csc(—T]—«/ESec(— ; j—SSin( ; j+4COS( : j
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(17
1726 = Sm(
2

43
1731 = Csc(

47 1t )
136 = Csc(— Tj’ 137 = Sm(

T41 =6 Csc(




):0:9:9:9:9.9:9.9.9.9.9.9:9.9:0.9:9.9:9.9:9:0:9:9:9:9:0:9:9:9:9:9.:9:9.9:9.9.0.9:9.9:0.9.0.9:9.0:0.0:9.0:9.0:9.9:9.9:9:0:0:0:0.9.9:9.9.9.9:9.9.9.9:0.9:9.9:9.9.9.0:9.0:9.0:0.9:0:0:0:9:9:0.0:9.9.9.0:0.0.0.0.9.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXKXLXXKXKXKKXXXXXX XK XKXXKXX KX KXKXK LXK XKX KX KXKXXKXKKKXKKXKXKME /1-6400301-00032XX
TrigonometryExercise for ID 13500

9n 231 331 RN
T =-2m, T2=13mx, T3=6m, T4 =-7 m, T5=—"", T6 = , 77 =— , 78 =—
2 2 2 2
20 257 357 10m 8l m 797 67
79 =— , T10 =", Tl =—""", T12=—"", T3 = , T14 = R T15=-—
3 3 3 3 4 4
37 m 137 & 107 & 67 6l m
TI6=—"", T17 =— . TI8 = , T19=——""", 720 =
4 6 6 6 6

nj
2
471 ) 44 nt
), 129 = Cos(— —), T30 = Sln(— )
3 3
651
| s £7)
4
nj

13
721 = Cos(—12 m), 722 =Sin(-14 n), 723 = Csc(-11 ), 724 = Sec(—10 n), T25=Sin(

nj ( llnj (2775
, 127 =Tan| ———— |, T28 = Sec

2 2

i 551 (61w

s 733 =Cos —T, T34 = Sin| 4

i , 351 77 r 83 n 73
j, 137 = Sln(— Tj’ 138 = Cos(— T), 139 = Sec(— T), T40 = Cot(

57Tn 257w 97w 297
T41=6ﬁsm(4)—ﬁ(:sc( ]+ﬁ5ec[ Jcm[ j

27
726 = Cos( 5

231w 22
131 = Csc(— Tj’ 132 = Sec(

49
736 = Sec
4

3 6 4
) 89 n 197 4 32n 59n
742 =4 Sin| - ﬁCSC - —~ Tan| - Cos| —
6 4 3 3 6
43 nt 97w 197 20n
T43:4Cos( 3 j—«/;Sec( P ]—3Tan(—Tj+2«/§Cot(— 3 J

T 49 1t 49 1t 26 T
—7294/2 Csc Tan Cot| —
4 6 3
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(97
T44 =8 Sln(
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TrigonometryExercise for ID 13637
3= 17w 13=w 197
TI=-9m, T2 =-4 T, T3=6m, T4=3m, T5=—- , 76 = - , T7 = , 18 =
2 2 2 2
95 n 89w

47wt 31m 45 it
79 = , T10=——"", Tl =—""", T12=—"", TI3=—"", T14 = R
3 3 3 3 4 4
6lmn

131 = 89 n
T19=—"7" 720 =
6 6

75w 79w
T16=—""", T17=——"1, T8 = ,
4 6 6
] 19
721 =Sin(13 m), 122 = Cos(—14 m), 723 = Cot(-15 ), 724 = Tan(—16 ), 725 = Cos 5

) 27 m 27m 3w ) 17 n 3l
726 = Sin —T , T27 = Sec , T28 = Csc , 729 = Sin| — 3 ) T30 = Cos 3
20m 231 49 n ) 431 231
T3] =Tan —T , T32 =Csc —T , T33 =Cos , T34 = Sin| — 1) T35 =Csc| — 4
101 65m
j, T40=Tan(— p j

nj’ 738 = Cos(— 65775) 739 = Sec(—

NSNS TRy
T42:\/§Tan(—41—nj—5(jsc( j—ZﬁSin(zin)+3 Sec(— 263nj
) e )l 52} (2

59 1 (97
736 = Cot(— Tj’ 737 = Sln(

RN
6

6
101 65 20 67
T44=2+3 Tan(—TnJ—2«/ESec( 4nj+ 10 Cos(—Tnj«/;Cot( 6nj
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TrigonometryExercise for ID 645101

37n RN 191 291
TI=5m, 2=-2m, T3=10m, T4=-11m, T5 = , 76 =—- , T7 = , 78 =
2 2 2 2
13 = 387 297 16 69 m 47 1t 89 n
79 = , TI0=—-——"", Tl =—""}, TIZz—T, Ti3=—"—", T14:T, Ti5 =
&3« 139 143 &t
TI6=—"" T17 =— .

2

6
721 = Cos(—13 ) 722 =Sin(12 1), 723 = Csc(—-12 ), 724 =Tan(—=5 1) 725 Cos(
] 237
T26 = Sin| —

27 ch
’ 2
33n 5= 52w ] 351
-, T27 = Sec , T28 = Csc , 729 = Cos , T30 = Sin| —
2 2 3 3
197w 14n S5m 63 41 n
T31 = Sec s 732 =Cot| — 733 =Cos| — , T34 =Sin| —— |, T35 =Cot
3 3 4 4 4
45 49 1t 43 1t 85 m 597
136 = Csc( 4 ), 137 = Cos( p ) 138 = Sm( p ), 139 = Tan( p ), T40 = Sec(— p )

25n 65m 257
T41=12ﬁ3ec[ : j ( j—ﬁcOt(—TjﬁcSc( : ]
67n T 47 n 67m
742 = Cot] _T -8 Cos| ———— +36«/§Sec— Tan| — 4
29
T43:4«/ESin(

4“} 2 os( j 3[(:0{ j+3f5ec inj

57 46|  (97m
j - 36 Tan( ) Sec( ) Sm( j
3 4 3

317
T44 =4 Cos
6
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TrigonometryExercise for ID 645102

291 171 191 191
TI=11m, T2=-13m, 73=10m, T4 =-12 m, 75 =— , T6 = , 77 =— , T8 =
2 2 2 2
56 31m 47wt 10m 47wt 69m 65m
79 =— , T10 =", Tl =—"", T12=—"", T]3:T, Ti4=——"", T15= 4
91 = 557 143 &t &9 1
TI6=—"", T17:—T, TI8 = , T19 =—

121 m
, 120 =
6 6

721 =Sin(-5 ) 722 =Cos(13 ), 723 = Csc(—-14 ), 724 =Tan(8 1) 725 Sln(
17w
T26:C0s(—

AR
T , T27 = Tan,

15 nj
’ 2
33n 46 1t
, T28 = Csc s 729 = Cos
2 2 3
47 1t 37m 257
T31 = Tan| —T , 732 =Cot T35 =Csc 4
10l = ] 89 n 43 1t
j, 137 = Cos(— —j, 138 = Sln(— —j, 739 = Tan( j T40 = Sec( j
4 6 6 6
85 95
T4l =43 cm( = ]f Tan( ]
46 7t 53n 55m
T42 =4 Cos 3 — 2 Tan| 4 + 18 Sec
T43 = 4Csc( ] 3[(:0{ j—3ﬁcm( j+2Sln ; j
297 257
«/ESec Csc
6 4

) 47 1t
, T30 = Sin| —
) 27 m
, T33=Sin| —— |, T34 =Cos| —
3 4
297
736 = Cot
197
ﬁCSC ——— | =54 Cos| —
6 4
j ( 47 nj
Csc
6
91
197 971
T44 =2 Tan| —— |- 162 Cos
4 3
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TrigonometryExercise for ID 645103

171 9n 11w 157

TI =12, T2 =-10 m, T3=17m, T4=-5m, T5 =-— , T6 =——, T7 = , 78 = —
2 2 2 2

56 35m 407 31m 49 1t 67m 47wt
79 =— , T10 =", Tl =—"—, T12 =", TI13=—"", Ti4=——"", T15=
3 3 3 3 4 4
85w 91 = 149 &t 109 &t 83 m
T16:—T, T17:—T, T8 =— P T19 = P 720 =

3=
721 = Cos(6 1), 722 =Sin(-5 1), 723 =Csc(-7m), 724 = Sec(—14 n), T25=Cos( 5 j

i 33n Iln 22 m _ 291
, 127 = Tan| 5 ) T28 = Cot , 729 = Cos 3 ) T30 = Sin| — 3
35n 47 1t 33n (45w 277
T3] =Csc| ———— |, T32=Sec| ———|, 733 =Cos , T34 = Sin , T35 = Sec| —
3 3 4 4 4
i 3= 55n
), 139 = Sec( ), T40 = Tan( )

6
297 17m 65mt) (55m
T41 =3 Tan( j _84/3 CSC(— 3 ] cm( ] S1n( j

4 4 6

25 89 31 37
T42=4Cot( n)—3«/§Tan(—Tnj+8«/§Csc( 3nj«/5Cos( 4nj

4

3l mw 71w 43 197
T43:4«/5Cos(—Tj—6 3Tan(—T]—9«/§Cot( ]+2ﬁs1n(— j

3 4

197 47 37w 197
T44 =4 Tan —T «/gCos —T — 6 Sec 3 Cot| — 4
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(29
1726 = Sm(
2

3l n S9n (97
136 = Csc(— T), 137 = Cos(— T), 138 = Sm(
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TrigonometryExercise for ID 645104

131 277 251 27 x
TI=3m, T2 =-15m, T3=6m, T4=-4m, T5 = , 76 = , T7 = — , 78 = —
2 2 2 2
47wt 34 r 387 13 = 89 n 797 91 =
79 = , T10=——"", Tl =—"—, T12 =", TI13=—"", Ti4=—"], T15=-—
3 3 4 4
45 it 115 = 143 &t 113 =« 109 &t
T16:—T, T17 =— . TI8 = P T19 = . 720 =

631
4

17m
721 =Sin(16 1), 722 = Cos(—8 1), 723 =Sec(-16 1), 124 = Tan(-9 1), T25=Sin(— j
25n 9= 33 ¢ i
726 = Cos _T , T27 = Sec 5 ) 728 = Tan|
50m 46 T 45 (21
T31 = Sec| — 3 ) 732 =Csc 3 ) 733 =Cos 1) T34 = Sin|
631 91 83w 71 n
736 =Cot| —— |, 737 =Cos , 739 =Sec| ——— |, 740 =Cot| ————
4 6 6 6
41 n Slm (9= 47 n
T41 =10 Cos| ~—— |~ 4 Cot| =~ | -2 Sin| — +34/3 Csd| -
1 j ( 89nj
Csc| —
6
S0m 33® 49 1t 37w
T43 =10 COS(— —j—ﬁ Sec( j+ 30 CSC( jﬁ cm( j
3 4 6 3
4
PO000:010:010:010.010.0:0.00.0.0.0.0:0.0:0.0:0.0:0.0:0.0.0.0.0.0.0:0.0:0.0:0.0.:0.00.0.0.0.0:0.0:0.0.:0:0:0.0:0.00.0.0:0.0:0.0:0.00:00.0'0.0:0:0.0:0.0:0.0.0:0'0:0'0:0:0:0¢

6
2
471 ([ 46
, 729 =Cos| ———— |, T30 = Sin
2 3 3
e 47 1t
j, T35:Sec(— j
4 4
TI:) ,(3175
s T38 = Sin
6
3
7 23
T42=84/3 COS(— 6nj Sec(— Tnj — 1642 sm(—
257 35n 49 7t 41 7t
T44:«/§Csc 3 — 3 Sec| — p Cot 3 Tan
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TrigonometryExercise for ID 645105
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17 n 371 23 1 231
TI=5m, T2=6m, T3=-3m, T4 =-2m, 75 = , T6 = , 77 =— , T8 =
2 2 2 2
297 40 387 37m 49 1t I57 55 ¢
79 = , T10=——"", Tl =—"—, T12 =", TI13=—"", T14=— N T15= 4
&S m 6l m 127 & 107 & 1257
T16=——"", T17 =", T8 =— . 19 =

2

6
721 = Cos(—17 ), 722 =Sin(15 m), 723 = Tan( 15 ), 724 =Sec(—-11 n), T25=Sin(
27 n

277:)

2

257 17 = 177 _ 26T
726 = Cos| ———— |, 127 =Cot| ———— |, 128 =Sec| ———— |, 1729 =Cos| ——— |, T30 = Sin| —

2 2 2 3 3
20m 471 671 ) 3l n In
T31 = Tan| —? , T32 = Sec —T , T33 =Cos —T , T34=Sin| ——— |, T35 =Cot

65

4 j

4

i (6lm 43 1t 103
T36:Csc( 1 ), T37:Sm( p ), T38:C05( T40:C0t( p )

4
47 n
), 139 = Tan(— —),
6 6
47w 437 49 53w
T41=94/3 Sec(— —j 4 COS( j 4 Tan( ] L5 CSC(— ]
6 3 4 6
4971 (491 257 297
742 =6 Cos -972 «/5 Sin Csc Tan| —
3 4 3 6
S0n 49
743 =24 ﬁ Sin(— Tj «/E Cos(

] (59nj (347:)
—2 Cot| ——— | Tan
4 6

3
95 n 51m 49 1t 6l m
T44 =4/ 3 Cot| _T — 3 Tan| —T + 24 Cos Sin

6
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TrigonometryExercise for ID 645106

13w RRE 27 x Tn
TI =-15m, T2=13mx, 73 =-10m, T4=8mx, 75 = , T6 = — , 17 = , 8=——"
2 2 2 2
327 197 40 357 95« 107 = 737
79 =— R TI0=—"", T1]=——"—", TI12="", Ti13="", T14 =— , T15=
3 3 3 3 4 4
53¢ 131 = 791 &9 1 109 &t
TI6=—"", T17 = . TI8=——"", T19 =— . 720 =
4 6 6 6 6

17w
721 = Sin(9 n), 722 = Cos(—10 m), 723 =Tan(-5 ), 724 = Sec(—7 m), T25=Cos(— 5 j

17 = 521 (22m
, 729 =Cos , T30 = Sin
2 3 3
47 1t 257 41
3 , T34 = Sin , T35 = Tan|
1

4 4
T [ 719m 85 m T1n
p j, 138 = Sm( j, 139 = Tan( j, 740 = Cot(— Tj
8

sl cof - F e 457 s -5
s 22) e 22)u{ 2] o 12

)2 7 s 25 o5 cof - 25 fsm( 3
- 25)o 22 o 2 of 22
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(1= 13w
T26 = Sin ) 127 =Csc| — 5 ) 128 = Tan|

3

3
59m
T36 = Cot| — 1) T37 =Cos| —

177 207
731 =Cot| — , 732 =Tan| — , 733 =Cos| —

741 =10 Sin[

46
T43 =4/3 Tan(
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TrigonometryExercise for ID 645107

291 171 27 x Tn
T =-6m, T2=14mx, T3=15m, T4 =-17 m, 75 = , T6 = — , 17 = , 8=——"
2 2 2 2

34 r 387 Tr 237w 41t 53® 95«

79 =— R TI0=—"", Tl =—", TI12="", Ti13="", Ti4=—""7, T15=
3 3 3 3 4 4
91 = 91 = 6lm 101 =« 119w
TI6=—"", T17 =——"", TI8=—", T19 =— . 720 =
4 6 6 6 6

1=
121 = Cos(—17 ), 722 =Sin(6 1), 723 = Tan(—7 1), 724 = Sec(—15 n), T25=Sin( 5 j

nj (2371) ( 9nj , (46nj (43nj
, T27 = Tan| , T28 =Sec| —— |, 729 = Sin , T30 =Cos
2 2 3 3
o 14 On (29= 35n
, T32=Sec| ———|, 733 =Cos| — , T34 = Sin , T35=Cot| ———
3 3 4 4 4
T 47 1 ) 101 95 n 101
), 137 = Cos(— —), 138 = Sm(— —), 139 = Csc(— —j, T40 = Sec(— )
6 6 6 6
4 141 45 1t 55 = 297
141 =—«/§ Sin(— —j —\/ECOS( ]-‘r 9 Sec[ JTan(— j
3 3 4 6 3
] 43 1t 35m 297 25w
T42 = 64/2 Sin| ———— | - 108 Tan| - —— | Cot Csc
4 6 4 3
6lm 47 1t 91 ¢ 53m
T43 = 5442 COS( jﬁ cm(— —j—6 Sin( jTan( j
4 3 6 4
4 43 1t 32n 53n 61 m
T44:§«/§COS( J—2«/§Sin(——3 j—SCot( 1 j+6 3 Tan( p )

6
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29
1726 = Cos( 5

%)

31
131 = Cot(

53
T36 = Sec
4
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TrigonometryExercise for ID 645108

RN 37n AN 27 1
TI =13, T2 =-3m, T3=12 =, T4=-10m, T5 =-— , 76 = — , T7 = , 78 =

2 2 2 2

327 197 357 10m 47wt I57 89 n
79 =— , TI0=—"", Tl =—"", TI12=——"", Ti3=—"", Ti4=—-——"", Ti5 =
3 3 4 4
6lm 6l m 131w 101 103
T16:—T, T17:T, T18 = P T19 =— , 720 = — p

25
721 = Sin(5 n), 722 =Cos(11 ), 123 = Tan(—7 1), 724 = Sec(5 ), T25=Sin( nj
277 137 ] 38n 17 =
726 = Cos —T, 127 = Tan 5 ) T28 = Sec —T, 729 = Sin —T, T30 = Cos| —
50m 19w ([ 29m 33n
731 =Cot —T, T32 = Tan| 3 ) 733 = Sin 1) T34 =Cos , T35 = Sec| —
T 59n ) T1n
), T37=Cos£— p ), T38:Sm(— p ), 139 = Cot( ) T40 = Tan( )
631 101 &
T41=34/3 Sec( ] 243 Sln[ J SCOt(— ; ] [ j
Sln 41 n 17 n
T42 =4 Sec| — 6\/7COS 4 + Cot| — p Csc| — 3

T T 22 1 61
T43:18«/§Sec( ; j«/ECOS(——4 j—l8«/§Cot( : stc( ; ]

51 37 21 37
T44:3«/5C0s(——4nj—2(30t( 6n)«/5Csc( 4anan( 3nj
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\‘-lk

65
736 = Csc
4
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TrigonometryExercise for ID 645109

15w 291 231 13w
TI=7m, T2 =-10 m, T3=-9m, T4=8m, T5 =-— , 76 = — , T7 = , 78 =
2 2 2 2
10= 43 1t 627 53 = 45 it I57 737
79 =— , TIO:T, T”:_T’ T12 =", TI3=—"", 714 =— R T15=
637 557 95« 109 &t 1257
TI6=—"" T17 =——"", Ti8 = , T19 = . 720 = —
4 6 6 6 6

29n
721 =Cos(16 ), 722 = Sin(-9 1), 723 = Tan(—17 ), 724 = Sec(—13 n), T25=Sin( j

o8 191
, T27 =Csc

j ( 9nj ( 35n (
, 128 = Tan| 129 = Cos| — , T30 = Sin
2 2 3
227 26T 53m _ 43 1t
T31 =Csc , T32 = Sec| — , 733 =Cos , T34 = Sin| — , T35 =Cot
3 3 4 4
3971) ( 7771) -(7371) (9171
, 137 =Cos| ——— |, T38 = Sin , 739 = Tan,
4 6 6
T41=64/3 Sln[ J 343 Sec[ J 2 COS[ J [
T42=21/§COS( 6nj—6«/5$in(— 4nj_ ec( j [Cot(
43 79 28
T43=3«/§Tan( TEJ—27 Sec( 7TjCot( n)«/?Csc( j
3 6 3 4
103 47 1t 2l 77
T44 = Sec p Tan ——3 - 15«/5Cos 4 Csc| — p
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29
726 = Cos(

736 = Csc(—

U‘-lk

, 740 = Cot(

2
g
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TrigonometryExercise for ID 645110

TI=5m=n

13w 35w 23 1 171

T2=10m, T3=-15n T4=-6n 75 = , T6 = , 77 =— , 78 =—
2 2 2 2
197 17 = 28 387 63 m 57 m 51m
79 = , T10 =", Tl =—"—, T12=—"", T3 = , Ti4=", T15=-—

3 3 4 4

45 it 791 107 &
TI6=—"", T17 =——"", TI8 =

6lm 1257
, T19=—"" 720 = —

6 6
721 =Cos(—8 m) 722 =Sin(-16 1), 723 =Csc(-6 1), 724 = Tan(—7 1) 1725 COS(
(15m
T26 = Sin

j (15nj ( 3lnj (16nj ( nj
, T27 = Tan| , 1728 =Cot| ——— |, 729 = Cos , T30 = Sin
2 2 2 3 3
19n 52m 69 1 ) 43 59n
T3] =Tan , T32 =Csc , 733 =Cos , T34=Sin| ——— |, T35 =Csc| —
3 3 4 4 4
41t 6lm 43t 41t 55 ¢
T36:Sec( 1 j, T37:Cos( p j, 138 = Sm( j, T39:Tan(—7j, T40=C0t( j
T41=343 Sec[ J 643 Sln( j+9«/7 COS(
55 ¢

T42 =5 Csc( B j— 104/3 Tan(

T43 = 2fsln(

it
] 3[&{31 T

bJ NS

[Page

j ( IOIRjﬁsec(?,inj
J-re{ ) sl
o T44:3«/5Csc(—3?Tn)«/§Tan( 67)_15 Sec(3mj 0t(65n

C j
3 4
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TrigonometryExercise for ID 645111

11x 251 191 17 n
TI=3m, T2=8m, 73 =-9m, T4=-12 m, T5 = , 76 = — , T7 =— , 78 =
2 2 2 2
28 257 41 327 41 6lm 757
79 =— , T10 =", Tl =—""", T12=—"", TI3=—"", Ti4=——"", T15=-—
3 3 3 3 4 4 4
637 &3« 85w 115 = 149 &t
TI6=—"" T17 =—"", TI8=—", T19 =— . 720 = —
4 6 6 6 6

33
721 = Sin(5 n), 722 = Cos(—6 1), 723 =Sec(—17 n), 724 = Csc(8 m), T25=Cos(— 5 j
44

i 277 AR ] 35m i
, T27 = Cot 5 ) T28 = Csc _T , 729 = Sin —T , T30 = Cos| —
50m 38m (6lm 41 61 m
T3] =Tan| ——— |, T32=Csc| ———— |, 733 = Sin , T34 =Cos , T35 =Csc
3 3 4 4 4
i ) 35m 6lmn 49 1t 651
j, T37:Sm(— p j, 138 = Cos( j, T39=Sec( p j, T40:Tan(— p j
79
T41 =443 COS( j 4Tan( 1243 cm( j ( ; )
39
142 = [Cot( j 6COS( j«/;Sec( njﬁCsc(— 4nj
23 89 4 257 . 297
T43 =18 Csc| — Cos| — -~ Cot «/gSm -
3 6 3 4 3
nj—6 3CSC( j+2fsln(

AT
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(15
726 = Sll’l(
2

25
736 = Sec

29
T44 =2 Cot( 4
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TrigonometryExercise for ID 645112

371 13w 11x 157
Tl =-3m, T2=-12 m, T3=8m, T4=9x, T5 =-— , 76 = , T7 = , 78 = —
2 2 2 2
26 227 357 31m 89 n 87T m 99
79 =— , T10=——"", Tl =—"", T12 =", TI13=—"", Ti4=—"], T15=-—
3 3 4 4 4
6l m 717 101 = 109 &t 791
TI6=—"", T17 =—"", T8 =— , T19 = . 720 = —
4 6 6 6 6

On
721 =Cos(8 1), 722 =Sin(9 n), 723 =Sec(—-11 n), 724 = Csc(—-12 m), T25=Sin(——

2
( 29nj ( 317:) (357:) ( 357:) (467:)
1726 =Cos| ———— |, 127 =Sec| ——— |, 728 = Tan| , T29=Sin| ———— |, T30 = Cos
2 2 2 3 3
T 46 1t 4
, 732 =Cot , 733 =Cos

On [ 65m 51m
, T34 = Sin , T35 =Csc| —
3 4 4 4
i (1037 43 1t 53n
j, 138 = Sln( j, 739 = Tan( j, T40 = Sec(— j

( 35nj (79
136 =Cot| ——|, 737 = Cos
4 6 6
T 63TE
—5Cot 4 + 27 Tan| —

T42—18f3ec( J (3': j—lssm( 3njCot(102nj
T43:§ﬁTan( ) g ( 56nj—2C0t(—51—n)+6«/§Sin(— 2';“]
T44 = 2[00{ j 54[5111( ) ( 7167:)CSC(163RJ
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37
1731 = Sec( 3

37
T41 =2 Sm(
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TrigonometryExercise for ID 645113

217 157 231 9n

Tl =4m, T2=13mx, T3 =-15m, T4=-8m, T5 =-— , 76 = , T7 =— , 78 =—"

2 2 2 2

327 Tr 28T 53® 83w 69 m 95«

79 =— R T10=—""", T1]=——""—", TI12="", Ti13=—"", Ti4=—"7, T15 =
3 3 3 3 4 4
65m 677 107 & 97 &t 137 &
Ti6 = , T17 =——"", Ti8 = , T19=—"", 720 = —

4 6 6 6 6

I5=n
721 =Cos(—5 ), 722 =Sin(-7 ), 723 =Csc(—-17 m), 724 = Tan(16 1), T25=Sin(— 5 j

i On ] 147 197
, 728 =Cot| ——— |, T29=Sin| ———— |, T30 = Cos
2 3 3
o (49= 51m 57w
,  I33=Sin , I34=Cos|———|, T35=Cot
4 4 4
i (85w 85 m 971
), 138 = Sln( ), 139 = Csc( j, 740 = Sec( j
6 6 6
71 63 52
7tJ—2O Sin[——njﬁSec(— TE]COS( th
4 6 4 3
46 3 51
nj—ZSin( j—3«/§Csc( 3nj+5«/5860(— 4ch

59 40 55
T43=9ﬁ(3sc(— 4“]005( 3“)— 18«/§Sec( jCOt(— 4“)

83 n 53n _ 26T 891
T44=3ﬁ€0t——6 — 4 Tan| == |+ 12 Sin| - | Sec| -
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17w 35
726 = Cos —T , T27 = Sec 5

T 25
j, 132 = Cot(

197 61
T36 = Csc(— Tj’ 137 = Cos(

31
731 = Sec(

25
141 =4 Cot[

(49 91 xt
742 =2 Tan
4 6

731
6
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TrigonometryExercise for ID 645114
31w 9w 37w 197w
TI=7mn, T2=-10m, 13=2m, T4 =-9 m, T5 = , 76 =——, T7 =— , T8 =—
2 2 2
137 41 n 20T 40n I n
79 = , T10 =", Tl =—"—, TIZz—T, TI3=—""",
8l = 115w
TI6="", T17 =—

2
37m 87 m
714 =— R T15=
4
133 & 101 =«
s T8 , T19

107 n
= , 120 =
6 6
721 = Cos(—10 ) 722 =Sin(-9 ), 723 =Sec(-13 1), 724 = Csc(-11 1) 725 Cos(
) 25m 17m
T26 = Sin —T , T27 = Sec

5=
j, T28:Csc(
2
46 1t 32n
T31 =Csc 3 ) 732 =Tan| —

37 m
736 = Tan 1

137:)
- 2
(43 = 17 n
, 729 = Sin , T30 = Cos| —
2 3 3
(57w 27m
— |, 733 = Sin 1 ) T34 =Cos

637
- T35 = Sec| —
3 4 4
7T n 41
j, 137 = Cos(— ), 138 = Sln( T), 139 = Sec(—
37 n]

83775), T40:Tan(— 716nj
-l el )
T42:6COS( 35nj (97nj |2 se ( j fTan( 41“j
T43 = 3«/7C0t ke

([ 52m 43 1t
«/7Csc + 18 Sin| Sec
3 6
_ e T 35n
T44:18«/§Sm( 3 JTan( 4 ]—54«/§Sec(—
0047]

47 1t
Cos| —
6
D10:0:0:0.0.0.0:0.0.0:0:0.0.0.0.0.0.0:0.0.0.0.0.0.0:0.0.0.0.0.0.0:0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0:0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0'¢
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TrigonometryExercise for ID 645115

171 R 17 = 11x

Tl =8m, 2=11m, T3 =-13 m, T4=-14m, 75 =— , 76 = — , T7 = , 78 =
2 2 2 2
26 297 347 43t 95 = 53¢ 83 m

79 =— , T10 =", Tl =—"—, T12 =", TI3=—"", Ti4=——"", T15=-—

3 3 3 3 4 4
49 1t 107 & 121 = 103 & 1257
T16=—" T17 = . Ti8 = , T19 =— . 720 = —
4 6 6 6 6

33
721 =Sin(-11 m), 722 = Cos(—9 m), 723 = Csc(-15 ), 724 =Tan( 14 ), T25=Sin( 5 j

T 197 VAR 31n (46T
, 127 = Cot 5 ) 728 = Csc —T , 729 = Cos T30 = Sin 3
38m 14 61 m ) 3n 271
T31=Sec| ———|, T32=Tan| ——— |, T33 =Cos , T34 = Sin| — T35 =Cot| —
3 3 4 4 4
i 971 ] 83 m i 6lmn
j, T37:Cos( j, T38:S1n(—Tj, T39:Csc( p ) T40:Tan( p )
1 19w 85 41
T41 =5ﬁ Sec(— j— CSC( ]— 8 COS( j+ 342 S1n( j
3 63 53
T42=5«/§Sec(——4nj—30 Csc(— 6E)Tan(——4nj«/;8in(— 37:)
o 451 5S3m 71w
j«/? Sec( J— 12 Cos(— —j«/;Cot(— j
4 3 6
9 47 1t 47 1t
T44 = 2«/781n( j 6«/7860( j+5«/§ Csc(— T]«/ECot(— Tj
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35
126 = Cos( >

;_n

41
736 = Sec
4

a

(49
T43 =3 Sm(
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TrigonometryExercise for ID 645116

17 n 35w 11n 297
TI =9, T2=14 =, T3=-2m, T4=-11 m, 75 =— , 76 = , 77 =— , T8 =
2 2 2 2
20 237 10= 197 8l m 55 ¢ 85w
79 =— , T10 =", Tl =—"—, T12 =", TI13=—"", Ti4="], T15=-—
3 3 3 3 4 4
T 119w 133 7 791t 113 7w
T16=——"", T17 = , T18 = . T19=—"7" 720 = —
4 6 6 6 6

277
721 = Cos(—7 1), 722 =Sin(-5 ), 723 =Sec(16 1), 724 =Csc(17 m), T25=Cos( j
( 17ch ( 9 (l9nj ( 23nj (19
T26=Sin| ———— |, T27 =Sec| —— |, 728 = Cot , 729 = Sin| — , T30 = Cos
2 2 2 3 3
34 291 251 (4l= 43 n
T31 =Csc , 732 =Tan| — , 733 =Cos , T34 = Sin , T35 = Sec| —
3 3 4 4
nj
6 b

33n 53n (49 i 95mn
, 137 =Cos| — , T38 = Sin 739 =Csc s T40 = Cot| — ——
4 6 6 6
6

a

136 = Cot(

33w 22 297 Sn
T41 =2C0t( ; jﬁcSc[ S J—4ﬁcOs(—T]ﬁSin( : )
23 47 27 47
T42=2 «/5 Sin(— _ch — 18 Tan(— _ch «/5 Csc(— _nj Sec(— ch
4 3 4 6
46 83 n 1 297 177
T43=28 Cos( j—2 CSC(_—6 j—g«/z Sec( 4 j+«/§Tan(— 3 j

73 44 47 41
T44=6 Sin( 6n)—«/§Csc(—?nj+6«/5C05(—Tnj«/386c(— 6nj
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TrigonometryExercise for ID 645117

27 21 = 217 157

Tl =-2m, T2=6m, T3=-13m, T4=5m, T5 = , 76 = — , T7 = , 78 = —
2 2 2 2
237w 207 37 m 10m 51m 797 8l m
79 = , T10=——"", Tl =—""", T12=—"", TI3=—"", Ti4=—"] T15=
3 3 3 4 4
&S m 101 & &3 1 791t 6lmn
T16:—T, T17 =— P T18:T, T19:—T, 720 =

13
721 =Sin(7 ), 722 = Cos(—12 m), 723 = Tan(—13 1), 724 = Sec(6 1), T25=Cos( 2nj
] 297 137 257 ] 207 41
T26 = Sin| ———— |, 127 =Sec| ———— |, 728 =Csc| ———— |, 729 =Sin| ———— |, T30 = Cos| —
2 2 2 3 3
e 257 277 (65T 47 1t
, 732 = Cot s 733 =Cos —T s T34 = Sin| 1) T35 =Csc| — 4

51mw 79 T 101 &
T36:SGC(_TJ’ T37=Cos£ p ), T40=C0t(— p j

28
731 = Tan( 3

3
T ) 95n 85
), 138 = Sm(— T), 139 = Sec(
67 47 nt 5= 46
T41 =442 COS[— —J -8 Sin(— j Cot(— —j NE Csc[ J
4 6 4 3
29 17 67 47
8 j Cos(— _nj -6 ﬁ Sec( = j Tan(— nj
4 3 6 4
43 69 8n) . (19=n
T43=4/3 Cot ~ 3 Tan| —— |+ 24 Cos| =~ | Sin| —

742=6 Cot(

T
3

T 171 &3 1 1 51m
—2Cos| ———|—94/3 Tan| ———— |+ -4/ 2 Csc| —
3 6 2 4
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29
T44=4 Cot( 4
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TrigonometryExercise for ID 645118

217 197 371 RO
TI=10m, T2=13mx, 73 =-4m, T4=-15m, T5 = , 76 = , T7 = — , 78 = —

2 2 2 2

227 35m 20 31m 65m 99 n 87 m
79 =— , T10 =", Tl =—"—, T12 =", TI13=—"", T14=— R T15=
3 3 4 4
691 119w
T16=——"", T17 =

737 127 & 137
, T18:T T19 =— 720

5 B -

29n
721 = Cos(—6 1), 722 =Sin(9 ), 723 =Csc(11 m), 724 = Tan(—6 1), T25=Cos( j

) 251 33n i 22 m
T26 = Sin —T , T27 = Tan| , T30 = Cos 3
231

j ( llnj _(49
, 1728 =Cot| ———— |, 729 = Sin
2 2 3
25m 16 27
T31 =Tan , T32 = Sec 3 , T34 = Cos —T , 735 =Cot| ——
23 55
T41=242 Csc[——nJ ( ] 4C 2 Sin(— 471)
67 67
p j—3«/§C0t( 3nj—Tan( TEJ [COS( nj

743 =10 Sin(

4
( 39nj ( 71nj ( n) (6171
T36 =Tan| ——— |, T37 =Sin| ——— |, T38 = Cos , T40 = Tan|
4 6 6 6
T 95n
2C -
6 j[ SC( ( j ( 6 j

37w
T44=94/3 Sec(

[Page = 0051]

T ([ 5Tm
, 733 = Sin
49
s T39 = Sec

53m

142 = 3«/7Csc —135\/7860 4 3 Tan| — p
j 2

- Cot
3
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X

726 = Cos(—

9w 23w
T, T27 = Sec 5 ) 728 = Csc

17n
—), T33:C0s( )
3
23nj ,(mnj ( ]
—, T37 = Sin s T38 = Cos
4 6
T41 =642 COS( ) 343 Cot(

T42 =243 Tan| ———— | =75 Csc| ——— | Sec
3 6
35
T43=2 «/7 Sm( ) Csc( Tn) + Cot(

17nj

28 1
731 = Sec

), 132 = Tan(—
3

136 = Tan(—

5
3
65
4
[Page

0052]

43 1
T44 =15 Tan(— Tnj «/; Cot( -

; j—lzﬁCOS(

721 =Sin(-6 ) 722 =Cos(9 m), 723 =Csc(10 m), 724 =Tan(17 mt) 125 Sm(
2

el
2 nj
:
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TrigonometryExercise for ID 645119

51 R RN 291
Tl =-2m, T2=-15m, T3=11m, T4=8m, T5=—"", 76 = , T7 = — , 78 = —
2 2 2 2
28 207 37 m 237 T I57 637
79 =— , T10=——"", Tl =—"", T12 =", TI3=—"", 714 =— N T15=
49 1t 101 =« 85w 119 = 91 =
T16:T, T17 =— . TIS:T’ T19 =

, 120 = -

14w )
129 = Cos(— Tj’ T30 = Sin

([ 37m
T34:Sm( 4 l T35 = Sec

737
T39 = Sec 6 ) T40 = Tan,

j+2ﬁSin(— 41“}
e e
{3 Ta

{5

19
4

i ) 55w
——— |42 Sin| -
6 4
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TrigonometryExercise for ID 645120

331 11w 277 9n
TI=5m, 12 =-Tm, 173 =-2m, T4=10m, 75 =— , T6 = — , 17 = , 8=—"
2 2 2 2
197 327 227 47 1 69 m 657 83 m

79 = , T10=——"", Tl =—"—, T12 =", TI3=—""", Ti4=—"], T15=-—
3 3 3 4 4 4
Tl = 97 &t 131 m 791 149 &t
TI6=—" T17 = P Ti8 = P T19:—T, 720 = —

721 =Cos(—6 1), 722 =Sin(15 m),

17w
723 =Sec(13 1), 724 = Cot(9 ), T25=Cos(— j

T 197 257 (3Tm 41wt
, T27 =Tan| — 5 ) T28 = Cot 5 ) 729 = Sin , T30 = Cos| — 3
1

32n 197 651
T31:Tan—?, 732 =Csc 3 ) T33 = Sin

41
j, T34 = Cos( j T35 = Tan( j
4 4
691 , 53n 101 37n 43 7t
T36 = Csc( 1 ), 137 = Sln(— T), 138 = Cos(— —), 139 = Sec( ) T40 = Tan( )

T41 - 9fsec( j 2fsln( j ( jfcos(3 j
T42=4 Csc(— 1061 nj 2 Tan( SZTCJM Sin(— 35;} Cot(796nj

T43=2 3Tan( j fCSC( j 6[Sec( j+2ﬁsm(_ “)
T44=24«/§Cos( zanan( 31“)— 12 Sin(— Sinj Sec(loz “j
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(33
726 = Sin
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TrigonometryExercise for ID 645121

31 = 291 217 317
TI=2m, T2 =-10 m, T3=-3m, T4=5m, T5 = , 76 = — , T7 = , 78 = —
2 2 2 2
327 23 7 227 31m S9n 69m 89 n
79 =— , T10 =", Tl =—"—, TIZ:T, TI3=—"", Ti4=——"", T15= 4
Tl = 133 7 1257 143 &t
T16:T, T17 = . T8 =— ,

115n

6
721 = Cos(—13 ) 722 =Sin(-5 ), 723 =Sec(15 ), 724 = Cot(—7 m) 1725 Cos(
) 257
T26=Sm(—

13 nj
2
17 n T
T , T27 = Cot

j (l9nj (16nj ( 26 j
, 728 = Tan , 729 = Cos , T30 = Sin| —
2 2 3 3
44 26 (6lm 3l n
T31 = Sec —T , T32 = Tan| —T , 733 = Sin -, T35 =Cot
6l m
T36=Tan(

691
, T34 = Cos| —
4 4 4
83 n (73m 297 671
), 137 = Cos(— —), 138 = Sm( ), 139 = Csc(— —j, T40 = Tan( j
4 6 6 6 6
RN
T41 =43 Sec[ p
26 41
jSec(——nj—6ﬁSin( ( nj
6 3
31 n
T44 =5 Cot —T —34/3 Tan| —
[Page = 0054]

17x 47 1t
—2Cos| ——— [+ 2 Cot| —
6 3
61 47 1t 437: 97n
743 =3 Tan
3
J+3«/781n( ]
D10:0:0:0.0.0.0:0.0.0:0:0.0.0.0.0.0.0:0.0.0.0.0.0.0:0.0.0.0.0.0.0:0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0:0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0'¢

X

JﬁTan( 77nJ
T42=2ﬁ(:os(49 § j
4“)—3681{—
j 2[00{
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TrigonometryExercise for ID 645122

T =-3m,

291 15w 23 1 51
T2 =-4m, 73=11m T4=2mx, 75 =— , T6 = — , 17 = , 8=—"
2 2 2 2

327 23 7 197 40 87 m 67

79 =— , T10 =", Tl =—"", T12=—"", TI13=—"", Ti4=——"", T15=-—

3 3 4
&l w 89 n 737
T16 =—"", T17=—"7"3, T8 =—""

Tl = 103 &
P T19=—", 720 = —

6
721 = Cos(—10 m) 722 =Sin(-15 ), 723 =Tan(—6 1), 724 =Sec(—16 1) 1725 Sm(
29n
726 = Cos| ——(——

j (19nj (27n
, T27 = Sec , 728 = Cot
2 2
49 1t
731 =Csc

- 2
(197 23
5 ) 729 = Sin s 730 = Cos| —
50m 51m )
3 ) T32 = Tan| —T , 733 =Cos —T , T34 = Sin| — T35 =Csc| —
197 , 351 3l m
136 = Tan(— Tj’ 137 = Sln(— Tj’ 138 = Cos( )

U‘-b

4
89 m
p ), 139 = Sec( 740 = Tan(— )
33n 26 41t 7=
T41 =2 Tan ~ 162 Cot| ——— |4/2 Cos Sec| —
4 3 4 6
T42=342 CSC(

J 3[(30{ jﬁSec( : J
T43=4Csc(796n]—3«/58ec( j 2[Tan( j+4Sln(
T44=64/3 Sin(— 2()7“} {2 COS(— =2

49 1t 28 1
—4/3 Cot| Sec
4 6
PO.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00000000 000000000000

J+ 12[(30{

47 nt

3
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TrigonometryExercise for ID 645123

231 13w 9n 15w
Tl =14, T2 =-2m, T3=5m, T4=-11m, 75 = , 76 = — , 177 =—"", 78 = —
2 2 2 2
197 26 17w 46 T 45 it 47 1t 65m
79 = , T10=——"", Tl =—"", T12=—"", TI3=—"", T14 = R T15=
3 3 3 4 4 4
91 = 149 &t 127 & 107 & 121 =
T16:——4 , T17 =— P T8 =— , = , = .

21w
721 = Sin(-9 ), 722 = Cos( 14 ), 723 = Csc(11 m), 724 =Sec(10 1), T25=Sin( j

i 1= 2l m (l6m
), 127 = Cot( j, 128 = Sec( j, 129 = Cos( —j T30 = Sm( j
2 2 3 3
451

261 41 «t 51m 43 1t
731 =Tan —T s 732 =Cot —? , 733 =Cos _T , T34 = Sin T35 =Tan| — 4
5
32

31
726 = Cos(
2

637 797 53¢ 657
T36 = Cot(— —j, T37 = Cos( j, 738 = Sin(— —j, 739 = Cot( j T40 = Tan(— j
4 6 6 6
17m S9n 61lm
T41=64/3 cm( j _5 Tan(— —] 412 CSC( j Sec( j
4 6 3
17 91 67
nj—60 3Csc(— nj ( nijec( j
6 3
791 47 1t 27w 49 1t
T43 =3 Cot p Csc —T — 30 Tan —T «/;COS p

T44:3«/?Sec(6l6nJ—Cot(—5%Tn)_2ﬁSin( j fcos( 95nj

[REEICSHERRSIY 1D:9:9:9:9.9.9.:9.:9.9:9:9:9:9:9:9:9:9:9.:9.9.9.9.0:0.0.0.0.0.0.0.0.0.9.0.0.0.0.0.0.0:0.0.0.0.9.0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.:0.0.:0.9.:0.:0.0:0.:0.0.0.0.0.0.0.0.0:¢

61
742=2+3 Cot(
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TrigonometryExercise for ID 645124

23 1 37w 21 = 11=
T =-3m, T2=8m, 13=7m, T4 =-4m, 75 =— 5 T6 = — N 17 = 5 T8 =
56 197 17w 40 83 m 45t 89 n
79 =— , T10 =", Tl =—""", T12=—"", TI3=—"", Ti4=——"", T15=
3 3 3 3 4 4
637 97wt 7T 1 83 m 127 &
T16:T, T17 =", TI8=——"", T19:T, 720 = — p

721 =Sin(14 ),

1=
722 =Cos(16 ), 723 =Sec(15 ), 724 = Cot(—11 n), T25=Cos( j

T 277 137 (34n
, T27 = Sec 5 ) 728 = Cot —T , 729 = Sin 3 ) T30:Cos
25m 26 ) S9n 251
T31 = Sec 3 ) T32 = Tan| —T , T33 = Sin| — 1 ) T34 =Cos 1) T35:C0t
43 7t 65m (103 m 85 m
136 = Csc(— 4 ), 137 = Cos(— Tj’ 138 = Sln( j, 739 = Cot( p j, 740 = Sec(
297 55 557
1 j— 6«/§COS( J[Sec( ]

6nj+ 6ﬁcSc[
)l 2] o)l 22
22
"

49 it 37
T43=64/3 Sec p —1084/2 Cos
PO.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00000000 000000000000

(27
726 = Sm(

J

T4] =4 Tan(

43
T42 =4 Sec( 3

744 = Cot(

4:“) 4Sec( j fTan( j+3[sln(
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TrigonometryExercise for ID 645125

291 11n 11w 5w
Tl =-11m, T2=9m, T3 =-10m, T4=6m, T5 =— , T6 = , T7 =— , 78 =—"
2 2 2 2
10= 35m 26 197 757 45t 737
79 =— , TI0=—"", Tll=——"", TI2=—", Ti3=—"—", T14=—-——"", T15=
3 3 3 3 4 4
47 91 149 109 T1n
T16=—"7 T17 =——"", T8 =— , T19 = . 720 =
4 6 6 6 6
721 = Cos(—9 m), 722 =Sin(10 ), 723 =Tan( 10 ), 724 = Csc(—11 ), T25=Cos( 5
52w

T 35® 29
, T27 = Tan| 5 ) T28 = Sec

38x 14w Sln 29
731 = Tan —? , 732 =Csc —T s 733 = Sin| — 1) T34 =Cos
T

T (91 6lm
), T37=Sm( p ), T38=Cos£ ) T39:Csc( j T40:C0t(

SRR ENTERCY
et
Js 2=

T43=4/3 Sec( j 44/3 Sm( j A2 ( J A3 Tan(
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i 53mn _
s 729 = Cos —T s T30 = Sin
T
j, T35:Tan(
4
85 n)
6

, (35
726 = Sin
2

i

61
T36 = Sec
4

741 = Cot[—

25
742 = Tan( 4

oo 22) o

744 =162 Cot(—
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TrigonometryExercise for ID 645126

TI=14nr

17w 23 1 21 = 3=

72=13 = T3=-15n T4 =-16 m, 75 =— , T6 = — , 17 = , T8 =
2 2 2 2

41 56 28 257 65m 47 83 m
79 = , T10=——"", Tl =—"—, T12 =", TI13=—"", Ti4=—"], T15=-—

3 4 4
7T 1 109 &t 115 =
T16=——"", T17 =", =—

137 & 95 =
. T19 , 720 =

6
137
721 =Sin(14 1) 722 = Cos(—-9 m), 723 = Tan(5 ), 724 =Sec(11 m), 725 Sln( 5 j
337 23 n 2l n 20n
T26 = Cos 5 ) T27 = Sec , 728 = Csc 5 ) 729 = Sin| —
41 nt
131 = Sec(— Tl 132 = Cot(

44
j, 730 = Cos(— j
3
_ S9n 351
733 = Sin| —T s T34 =Cos| — T35 =Tan| —
43 1t 85w
136 = Cot(— Tj’ 137 = Cos( j 138 = Sm( p j, 139 = Cot(
103
T41 =54 Sec[ J [
6

742 = 442 Cof L2

J 342 CSC(
T43=643 Csc(

97
j T40:Tan( j
6
3=
— 12 Cot
T44 =2 Cos(—

\O-lk

T

W

o]
) 2o 2
SECNES )
) e ) o 2

237
W/ Tan| —
)0:0.0.0.0:0:0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.:0.0.0.0.0.0.0.0.0.0.0:4
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TrigonometryExercise for ID 645127

291 15w 371 Tr
Tl =-11m, T2=13 =, T3=8mn, T4=-4m, T5 = , 76 = , T7 = — , 8=——"
2 2 2 2
20 10m 47wt 31m 53m 83w 55m
79 =— , T10=——"", Tl =—""", T12 =", TI3=—"", Ti4=——"", T15=
3 3 3 3 4 4
49 1t 6lm 791t 149 &t 107 &
T16=—" T17 =—", TI8=——"", T19 =— . 720 =
4 6 6 6 6

33x
121 = Cos(7 m), 722 =Sin(-17 m), 723 =Csc(6 1), 724 =Sec(—13 1), T25=Sin(— 5 j

i 15= 17 = 43 1t ([ 28Tm
, T27 = Cot , T28 = Sec s 729 = Cos s T30 = Sin
2 2 3 3
35n 251 ) 19n 39 65
T3] =Csc| ———— |, 732 = Tan| , T33=Sin| ——— |, T34=Cos| —— |, T35 = Sec
3 3 4 4 4
277 (103 m 55m 297 T1n
T36 = Csc(— —), 137 = Sln( ), 138 = Cos( j, 139 = Sec(— —j, T40 = Cot(— —)
4 6 6 6 6
71n 197 14n) (85m
T41=94/3 Tan(— ] Cot(— —j —104/3 CSC(— J Sln( ]
4 3 6
44 45
T42=2 Tan( J 3 Sec( j+6 3 Cot(— Tnjﬁ Sin( 4nj
nj

43 ) 47 e 65m
T43 =343 Cot —124/2 Cos| — Tan| —
3 6
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19
726 = Cos(
2

(85 52
T44 =6 Cos| — 2[ 2 Seq| — ~10 Sin +34/3 Cot
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TrigonometryExercise for ID 645128

21 = 197 35n 171
T] =-8m, 2=11m, T3 =-13 m, T4=2mx, 75 =— , T6 = — , 17 = , T8 =
2 2 2 2
197 56 S9n 46 T 83 m 8l m Tl =
79 = , T10=——"", Tl =—"", T12=—"", TI3=—"", Ti4=—"], T15=
3 3 4 4
69~ 115 = 89 n 97 1t 143 &t
TI6=—"" T17 =— . TI8=——"", T19=—"", 720 =

4 6 6 6 6

17w
721 =Sin(5 ), 722 = Cos(—7 ), 723 =Sec(—8 m), 724 = Cot(10 1), T25=Sin( 5 j

i I1= 237 197 ] 44 7t
, 727 = Cot _T , 728 = Tan| 5 ) 729 = Cos , T30 = Sin| — 3

3
22 m 26 671 ) 231 5=
732 =Tan| ——— |, 733 =Cos| ——— |, T34 =Sin| —— |, 735 =Cot| ——
3 3 4 4 4
237 ) 35n 41 47 1t 37 m
), T37:Sm(——6 ), T38:Cos(——6 ), T39:Sec(— 6 ) T40:Tan( p )

SRS I

el k22l

S NES M NE S NSNS
2 ) ) o 22
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19
726 = Cos(
2

731 = Cot(

736 = Csc(—

52
T42 =12 Sec
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TrigonometryExercise for ID 645129

251 191 271 17 n
Tl =-9 m, T2=4mr, T3=17m, T4=-14m, 75 = , 76 = — , T7 = , 78 = —
2 2 2 2
46 1t 257 50m 17 = 6lm 41t 791
79 =— , T10 =", Tl =—"—, T12 =", T13=- , Ti4=—"] T15=
3 3 3 3 4 4 4
S9n 119 = 737 91 = 137 &
Ti16 =— , T17 = . TI8=—"", T19=——""", 720 = —
4 6 6 6 6

121 = Cos(—15 m), 722 = Sin(-16 1), 723 = Cot(10 1), 724 = Csc(11 m), T25=Cos( —j

i 137 297 ] 41 &t 34r
, 727 = Cot , 1728 =Csc| ———— |, 729=Sin| ——— |, T30 = Cos
2 2 3 3
41 44t 65T (45= 41
T31 =Tan| — , T32=Sec| ———|, T33 =Cos , T34 = Sin , T35 = Sec
3 3 4 4 4
57Tn 85 m [ 719m 91 n
j, 137 = Cos( j, 138 = Sm( j, 139 = Csc(
4 6 6
277 73 n 45 1t 37n
T41 =42 Sec(— —j— 18 COS( ]ﬁ Sin( : ]cm( 3 ]
109 &t
142 = 31/7860 2«/781n 2«/7Tan 3 Cos B
4 T 491 46 1t 41
743 :—«/; Cot( ]«/ECOS( ]— 6 Sin( jSec(— J
3 4 3 6
85 49 57mn 9
T44=2ﬁ3ec( j—3«/§C0t( j+20 2COS( y Jsm( ; ]
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(29
726 = Sll’l(
2

136 = Cot(
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TrigonometryExercise for ID 645130

2l w 15w 15= 137w
Tl =3m, T2 =-8m, T3=2m, T4=-11m, T5=- , T6 = , T7 =— , T8 =
2 2 2 2
53w 62m 7n 287 91 n 55 6lmn
T9 = S T0=-——"", Tl =— TI12=—"", TI3=——"", Ti4=—"", TI15=-
3 3 3 3 4 4
737 1157 77 n 143 &t 133 &
T16 =—"", T17 =— , T8 =— . TI19= , 720 =
4 6 6 6 6
) 231
721 = Sin(-7 ), 722 = Cos(17 ), 723 =Sec(7 1), 124 = Tan(—14 ), 725 = Cos 5

T 237 (37
, T28 =Csc _T , 729 = Sin

3
e 37 n ) 27m 3l 67
, 732 =Csc , T33=Sin| —— |, T34 =Cos| ——— |, T35 =Csc| —
3 3 4 4 4
37 m 49 1t , 53n 3 n 47 1
136 = Tan( 1 j, 137 = Cos( ), 138 = Sln(— —6 ), 139 = Cot( ), 740 = Tan(—
737 35® 50m 49 1t
T41=6 sm[ ; J—2«/§Sec[—TJ— 10 COS[—TJ+3«/§Tan( ; )
67 49 103 61
T42=«/§Sec(——nj—6«/§8in( nj+ 1043 Tan( njcm( RJ
4 3 6 4
26 45 1t 53mw 25m
T43 =16 Cos(— = jﬁ CSC( y j— 12 Sin(— e jﬁ Cot( ]

3
R2x S9n 25w 5=
T44 =2 Sec —T -9 Cot| — p Tan| 3 «/ECSC ~ 7
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] 25m 13
726 = Sin —T , 127 = Cot 5

28
131 = Cot(
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